IS Tderr welt
\‘ National Testing Agency

‘Test Date : 22 Feb 2023 Test Slot : siot 1

|Subject : 91-Prakrit

Sl. No.1
QBID:191001

Bhagavatt Aradhana is in the Prakrit of this period of Prakrit

1. Secondary-Age
2. Primary-Age
3. Tertiary-Age
4. Modern-Age

(1) 1
(2) 2
3) 3
(4) 4
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1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12001]
2[Option ID=12002]

3[Option ID=12003]
4[Option ID=12004]

Sl. No.2
QBID:191002

The Prakrit language of Kasayapahuda is of this period

. Secondary-Age
. Modern-Age

. Primary-Age

. Tertiary-Age
1) 1

(2) 2

(3) 3

(@) 4
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1[Option ID=12005]
2[Option ID=12006]
3[Option ID=12007]
4[Option ID=12008]

Sl. No.3
QBID:191003




Gathasaptasati is written in this period of Prakrit

. Tertiary-Age

. Modern-Age

. Secondary-Age
. Primary-Age
11

() 2

(3) 3

(4) 4

TR $9 I &1 Uidhd | fafad g
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(1) 1
(2) 2
3) 3
4) 4
1[Option ID=12009]
2[Option ID=12010]

3[Option ID=12011]
4[Option ID=12012]

Sl. No.4
QBID:191004

The language of 'Setubandha' is of this period

. Primary-Age

. Tertiary-Age

. Secondary-Age
. Modern-Age
(11

(2 2

(3) 3

(4) 4

&= BT HINT 39 I Pi g

L D =

.

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=12013]
2[Option ID=12014]

3[Option ID=12015]
4[Option ID=12016]

Sl. No.5
QBID:191005

The language of Niya Prakrit' belongs to this period

1. Tertiary-Age

2. Modern-Age

3. Secondary-Age

4. Primary-Age
1) 1




) 2
3) 3
4) 4

(ERIRIETER RO E RN LI

1. gdrg-gafi-
1Y
fgdagrie
 UH-GI

(1) 1
(2) 2
(3) 3
4) 4
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1[Option ID=12017]
2[Option ID=12018]
3[Option ID=12019]
4[Option ID=12020]

Sl. No.6
QBID:191006

'Ta’ is used for non initial, non conjuct 'da’ in this Prakrit

1. magadht
2. paisact
3. apabhrams'a
4. maharastri
(1) 1
(2) 2
(3) 3
(4) 4

G- & & Y T 1 90T 58 Wipd A g1l ©

1. HATE]
2. T
3. 3Oy

RIS

1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=12021]
2[Option ID=12022]
3[Option ID=12023]
4[Option ID=12024]

Sl. No.7
QBID:191007

'da’ is used for non initial non conjuct 'ta' in this Prakrit
1. Saueaseni
2. Magadhi
3. Apabhramsa
4. Paisacl
1) 1
(2) 2
3) 3
(4) 4




TG ‘T b [T & BT YN 38 UIhd H gl &

1. IRYA

2. HATEN

3. OHIT

4. U9
1)1

(2) 2

(3) 3

4) 4

1[Option ID=12025]
2[Option ID=12026]

3[Option ID=12027]
4[Option ID=12028]

Sl. No.8
QBID:191008

'Sa’ is used for 'Sa’ in this Prakrit

. apabhrams'a

. Ardhamagadhi
. Saursent

. Magadhit

(1) 1

(2) 2

3) 3

(4) 4
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 AETER

(1) 1

(2) 2

(3) 3

4) 4
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1[Option ID=12029]
2[Option ID=12030]
3[Option ID=12031]
4[Option ID=12032]

Sl. No.9
QBID:191009

'ba’ is used for non initial non conjuct 'pa’ in this Prakrit

1. Magadht
2. Saursent
3. Apabhrams'a
4. Paisacl
(1 1
) 2
(3) 3
(4) 4

3fIfe-3rgad T & fo & 1 TN 99 Wihd H gl &

1. HITed)
2. QIR
3. 3UYY
4. et

1)1




(2) 2
(3) 3
(4) 4
1[Option ID=12033]
2[Option ID=12034]

3[Option ID=12035]
4[Option ID=12036]

Sl. No.10
QBID:191010

The first recension of ardhamagadhi canons was held under the leadership of

1. Nagarjuna
2. Sthalibhadra
3. Devardhigani
4. Bhadrabahu
(1) 1
(2) 2
(3) 3
(4) 4

STHTTE- STHT Bl UH-are-l 39 gcd | gs ol
1. AT
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12037]
2[Option ID=12038]

3[Option ID=12039]
4[Option ID=12040]

Sl. No.11
QBID:191011

The number of chapters of the first part of the 'nayadhammakahao’ is

.36
10
41
AL
1) 1
(2) 2
(3) 3
4) 4

TRTFBEIST & YUH-Ydwhe & gl &l GOl 6 -

LV o B

=

. 36
10
41
.19
1 1
(2) 2
(3) 3
(a) 4

ad D

I

1[Option ID=12041]
2[Option ID=12042]
3[Option ID=12043]
4[Option ID=12044]

Sl. No.12
QBID:191012




Rayapaseniya sutta is included in following canonical category —

. Upangastutra
. Mulasttra

. Chedasiitra
. Angasutra
(11

(2) 2

3) 3

4) 4

RGO &1 GHaR 9 HH-90i § gidl 8
1. SUMREA
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.

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=12045]
2[Option ID=12046]

3[Option ID=12047]
4[Option ID=12048]

Sl. No.13
QBID:191013

Name of the fourth part of "Satkhandagama’ is —

1. Bandhasamitta vicaya
2. Vedanakhanda
3. Jivatthana
4. Mahabandha
1) 1
2) 2
3) 3
) 4

WCESHH' & Iqd-Es BT A 5

1. SeTERIfaay
2. deARdS

. HeldY

(1) 1

(2) 2

3) 3

(4) 4

[ EU O]

1[Option ID=12049]
2[Option ID=12050]
3[Option ID=12051]
4[Option ID=12052]

Sl. No.14
QBID:191014

This is the work of ramapanivada

1. Kamsavaho
2. Kappuramanjar1
3. Paumacariyam
4. Setubandha

1) 1

2) 2




3) 3
(4) 4
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12053]
2[Option ID=12054]

3[Option ID=12055]
4[Option ID=12056]

Sl. No.15
QBID:191015

'Lilavar is this type of narrative —

. divyakatha

. manusikatha

. divya-manusikatha
. dharmakatha

(1) 1

(2) 2

(3) 3

(4) 4
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I

1[Option ID=12057]
2[Option ID=12058]
3[Option ID=12059]
4[Option ID=12060]

Sl. No.16
QBID:191016

'"Paumacariyam' is divided into —

. ASvasa
. sarga

. kulaka
. bhava
(1) 1

(2) 2

(3) 3

4) 4
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1. 3Ty
st|

i g

4. 49
1) 1

(2) 2

3) 3

4) 4

s bd

1[Option ID=12061]
2[Option ID=12062]
3[Option ID=12063]
4[Option ID=12064]

Sl. No.17
QBID:191017

On the basis of the content, the narrative is of these kinds are said in 'dasavaikatikasiitra' —

CRABNADYA & HUATTHR (A9 b1 a1 § HUT &b Ua 6 -

EPE

JA‘ .

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12065]
2[Option ID=12066]

3[Option ID=12067]
4[Option ID=12068]

Sl. No.18
QBID:191018

Bharata muni has prescribed this language in dialogue of heroine and their companion in dramas

1. pracya
2. avantija
3. ardhamagadhi
4. Sauraseni
1) 1
2) 2
(3) 3
(4) 4

YA A ATedh] H AT 2R IHS! GRAGT gR1 39 HIST H ardiend & faur f&arg -

1. U=l
2. 3dfdel
3, afefamelt
4. IRYAT
1) 1
) 2




3) 3
(4) 4

1[Option ID=12069]
2[Option ID=12070]
3[Option ID=12071]
4[Option ID=12072]

Sl. No.19
QBID:191019

The hero of 'singaramadjart’ is —

jaitracandra
raja rajasekhara
. candrapala

. manaveda

(11

) 2

3) 3

(4) 4
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r
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(1) 1

(2) 2

(3) 3

4) 4
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1[Option ID=12073]
2[Option ID=12074]
3[Option ID=12075]
4[Option ID=12076]

Sl. No.20
QBID:191020

Svapnavasavadattam is the creation of this type

1. nataka
2. sattaka
3. katha
4. carita

1[Option ID=12077]
2[Option ID=12078]
3[Option ID=12079]
4[Option ID=12080]

Sl. No.21
QBID:191021




The hero of 'candaleha' sattaka is —

. manaveda

. candrapala

. Sikhandacandra
4. jaitracandra

(1) 1

(2) 2

3) 3

4) 4

gl g DI A Ug -
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1) 1
(2) 2

(3) 3

4) 4

1[Option ID=12081]
2[Option ID=12082]

3[Option ID=12083]
4[Option ID=12084]

Sl. No.22
QBID:191022

Period of Ashok’s inscriptions is this —

. Fourth Century B.C.
. Third Century B.C.

. Fifth Century B.C.

. First Century B.C.
1) 1

) 2

3) 3

(4) 4
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1[Option ID=12085]
2[Option ID=12086]
3[Option ID=12087]
4[Option ID=12088]

Sl. No.23
QBID:191023

"Hathigumpha inscriptions' is inscribed in —

1. Girnar
2. Udaigiri
3. Vindhygiri
4. Candrgiri
1) 1
) 2




3) 3
(4) 4
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1. TRAR
.3l
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(1) 1
(2) 2
(3) 3
(4) 4
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-

1[Option ID=12089]
2[Option ID=12090]
3[Option ID=12091]
4[Option ID=12092]

Sl. No.24
QBID:191024

This person is saluted in the mangalacarana of Ghatiyala-inscription —

. Neminatha

. Santinatha

. Parsvanatha
. Adinatha
(1) 1

(2) 2

(3) 3

4) 4
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1. Ay
2. iy
3. iy
4. 3f1fery

1)1
(2) 2
(3) 3
(4) 4
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B

1[Option ID=12093]
2[Option ID=12094]
3[Option ID=12095]
4[Option ID=12096]

Sl. No.25
QBID:191025

Paiyalacchinamamala has been written by

1. Hemacandra
2. Amaracandra
3. Dhanapala
4. Dhanafijaya
1) 1
) 2
3) 3
(4) 4
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CSHHId
YA 4T
CYAeg
1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=12097]
2[Option ID=12098]
3[Option ID=12099]
4[Option ID=12100]

Sl. No.26
QBID:191026

'Gaha-lakkhana' has been written by —

. Virahanka

. Pingala

. Ratnasekhara
. nanditadhya
() 1

() 2

(3) 3

4) 4
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1. favgi®
e

AR
Aldred

1)1
(2) 2
(3) 3
(4) 4
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1[Option ID=12101]
2[Option ID=12102]
3[Option ID=12103]
4[Option ID=12104]

Sl. No.27
QBID:191027

"Prakrita laksana' has been authored by —

. Canda

. Hemacandra
. Trivikrama

. Vararuci

1) 1

) 2

(3) 3

4) 4
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(2) 2
3) 3
(4) 4
1[Option ID=12105]
2[Option ID=12106]

3[Option ID=12107]
4[Option ID=12108]

Sl. No.28
QBID:191028

The total number of the maxims in the 'Prakrita Prakasa' is —

. 487
. 508
.. 309

)

1) 1
(2) 2
(3) 3
4) 4
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. 487
. 508
. 509

572

(1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=12109]
2[Option ID=12110]
3[Option ID=12111]
4[Option ID=12112]

Sl. No.29
QBID:191029

These sounds are found in Prakrit

.arkapa
.rlaiau
iugaya
.ulghasa
11

() 2

(3) 3

(4) 4
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1) 1

) 2

(3) 3
(4) 4
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1[Option ID=12113]
2[Option ID=12114]
3[Option ID=12115]
4[Option ID=12116]

Sl. No.30
QBID:191030




This vowel contractions is found in Prakrit

. dirgha sandhi and vrddhi sandhi
. guna sandhi and yan sandhi

. guna sandhi and dirgha sandhi

. ayadi sandhi and vrddhi sandhi
1

(2) 2

3) 3

(4) 4
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1. S99 ok afe-af
2. U 3R JU-EiE
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1[Option ID=12117]
2[Option ID=12118]
3[Option ID=12119]
4[Option ID=12120]

Sl. No.31
QBID:191031

'Ka' is dropped only when it is —

initial and non-conjunct
. medial and conjunct

. initial and conjunct

. medial and non-conjunct
1

(2) 2

3) 3

(4) 4
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3G SR Tgad gl
o 2
(3) 3
4) 4
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1[Option ID=12121]
2[Option ID=12122]
3[Option ID=12123]
4[Option ID=12124]

Sl. No.32
QBID:191032

Yasruti happens instead of —

aand a
aand o
aandu
Gand1

b D =

=

1) 1
(2) 2




3) 3
(4) 4
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1[Option ID=12125]
2[Option ID=12126]
3[Option ID=12127]
4[Option ID=12128]

Sl. No.33
QBID:191033

Se ayaval, Logaval, Kammavar, Kiryavar’ this line is quoted from

1. Dravyasamgraha
2. Acarangastitra

3. Pravacanasara

. Sammaisuttam
11

(2) 2

(3 3

4) 4

Y SAATS, ARTATS, HHIETS, [Baary’ U8 Uldd 39 34 U 3ged ¢ -

1. 5o0dUs
2. JTERIRYA
3. YR
4. g

1)1

(2) 2

(3) 3

(4) 4
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1[Option ID=12129]
2[Option ID=12130]
3[Option ID=12131]
4[Option ID=12132]

Sl. No.34
QBID:191034

‘Mihilaé ceie vacché styacchae@ manorame
Patta-puppha-phaloveg bahinam bahuguné saya
This verse is spoken by

. Rajarsinami
. Devendra

. Siddhasena
. Nemicandra
(1) 1

(2 2

3) 3

4) 4
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1. I A
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3. g
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(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=12133]
2[Option ID=12134]

3[Option ID=12135]
4[Option ID=12136]

Sl. No.35
QBID:191035

Jaha dumassa pupphesu bhamaro aviyai rasam
Na ya puppham kilamei so ya ya pinei appayam ||
In this verse bhramara is equated with

Jaina householder
Jaina Monk
Black umbrella
Black cloud

[N e

o

(1)1
) 2
3) 3
(4) 4

TGT GAR Hh Y HHRI 3M1faHg 3|

17 quh fbeg 91 g divig 3|
YU H YR B IUHI S AT ¢ -

(1) 1
(2) 2
3) 3
) 4
1[Option ID=12137]
2[Option ID=12138]

3[Option ID=12139]
4[Option ID=12140]

Sl. No.36
QBID:191036

'Nivvanassa ya saro avvabaham suham anovamiyam
kayavva hu tadattham adahida- gavesina cettha '

1. Vasunandisravakacara
2. Pravacanasara
3 Sammaisuttam
4. Bhagawati Aradhana
1) 1
(2) 2




3) 3
(4) 4

OTedTURY 4 IR 3fcdldlg e SfUNafH |
Dol g dag 3Hafge-TaRom IgTl
T T ZH I ISy ¢ -

1. TYT<I-HIaHTER
2. UagTaR

3. I
4. HIGAT SRTEAT
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=12141]
2[Option ID=12142]

3[Option ID=12143]
4[Option ID=12144]

Sl. No.37
QBID:191037

'Kuvalayamala kaha' was composed at :

. Pataliputra

. Jabalipura

. Hastinapura
. Cittorgarha
1) 1

2) 2

3) 3

(4) 4
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12145]
2[Option ID=12146]

3[Option ID=12147]
4[Option ID=12148]

Sl. No.38
QBID:191038

* Ummulantena dumam parchavva khudido mahendassa Jaso™. This portion of verse accure in this work :

1. Nayakumaracariu
2. Setubandha
3. Karptiramanjari
4. Kuvalayamala
(11
(2) 2
(3) 3
(4) 4




IR gH TRIged g3l Afg aed ol
TG TR ST AG -

1. TRIGHRARS
2. AdeY
3. HUTHGR]
4. HATIHIATHY]
(1) 1
2) 2
3) 3
(4) 4
1[Option ID=12149]
2[Option ID=12150]

3[Option ID=12151]
4[Option ID=12152]

Sl. No.39
QBID:191039

This statement is related to the characteristics of sattaka

. Paudabandho vi hoi suumaro

. Utti viseso kavvo

. Diram jam nadiaim anuharai

. Akalia pariram bhavibbhamaim
1) 1

(2) 2

3) 3

4) 4

I HYT HSD b A& Y FHIRIA § -
1. 93¢« fd g1 Y3ARI

2. IRITATY! dedl
3. QY S UNTSarg s
4. HBIA3 TRIHIdHATS
1)1
(2) 2
3) 3
(4) 4
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1[Option ID=12153]
2[Option ID=12154]
3[Option ID=12155]
4[Option ID=12156]

Sl. No.40
QBID:191040

¢ Juhitthira - jetthabhaa ranamadheyam angajualam” is related to

1. Two ears

2. Two brothers
3. Two friends

. Two jewels
11

() 2

(3) 3

(4) 4
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1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=12157]
2[Option ID=12158]
3[Option ID=12159]
4[Option ID=12160]

Sl. No.41
QBID:191041

Read the following statements.

A. is divided in six niyamas.

B. All Prakrit grammar work written are in Sanskrit.
C. 'Paiasaddamahannao’ is a Sanskrit dictionary.

D. Prakrit poetry works have cultural material also.
E. Abhidhana rajendra kosa is in ten volumes.

Choose the correct answer from the options given below :

. B, C and E only

. A, Band D only
.C,D and E only
. A, Band C only

1) 1
(2) 2
3) 3
(4) 4

i d Bl $1 71T -

A. Joollld-GH= &g a4l # [dHdd g |

B. W dHNI o Gl ATHRUI-UY b H a5 |
C. 'UISHIEHGUUIS ¥ et 6 |

D. UIh AN & il H Hihidh-ardl 1 g

E. SHHYTARISIG-HIRT 10 HRT H YehIIRId ¢ |

I faU 7T fash el # I Ta8 Iugdd-3TR 61 99 PHIfoT :

1. $dd B, C 3R E
2.A,B3RD

3.$ad C,D 3R E
4. HIAA. B3R C

1)1
(2) 2
(3) 3
(4) 4

L I

.

1[Option ID=12161]
2[Option ID=12162]
3[Option ID=12163]
4[Option ID=12164]

Sl. No.42
QBID:191042




Read the following and choose the correct statements.

A. There is a character sketch of gosalaka in bhagavatisutra.
B. The code of conduct of monk is described in .

C. Author of mahabandha is acarya bhiitabali.

D. There is a collection of stories in ganividya.

E. Title of the second part of is path of liberation.

Choose the correct answer from the options given below :

. A, B, Conly
.B, C, E only
.A, C,E only
.B, D, E only
1) 1
2) 2
(3) 3
(4) 4

fafafad s u¢ 3R ggl faded g+

A. YT G H TR &1 ARF-E0 8 |

B. JUNID SR YA H HIE b =R D1 9ui 5|
C. HeTdY' & Pl =R Hadld ¢ |

D. TioIfger H Hrell & dUg g

E. GHURIT & fgdid-HIT BT 2N HIgHNT ¢ |

i fau ¢ [dhedl § I Ug1-3R &1 98 DIfoIT :

1. $dd A, B, C
2. Hdd B, C, E only
3. Hdd A, C.E
4. bdd B, D, E

1)1
(2) 2
(3) 3
4) 4

b =

.

1[Option ID=12165]
2[Option ID=12166]
3[Option ID=12167]
4[Option ID=12168]

Sl. No.43
QBID:191043




Read the following.

A. Prakrit dnammapada is in primary age Prakrit.

B. The language of kundakunda’s literature is of modern age.
C. Apabhramsa language is of tertiary age.

D. Language of Rajaprasniya sufra is of secondary age.

E. Modern languages have evolved from secondary age Prakrit.

Choose the correct answer from the options given below :

1. B, C and E only
2. A, Cand D only
3. A,Band D only
4.C,Dand E only

1)1
(2) 2
(3) 3
(4) 4

fgfeiad s ug |

A I d YHUE YYHGIE UIbd H 5|

B. Padpa b Hllged DI HINT AT B
C. SOYRIHIY Fe -l g |

D. UL G DI 1IN fgcdia-gri 3 |

E. 34 HI9TT fgdia-gri-uidd 9§ el 31

i< fau U f[d el § O Gl IR &I 98- Hifee -

1. $9d B, C 3R E
2. HAA A, C 3R D
3. HAAA.B3ARD
4. %94 C,D 3R E

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=12169]
2[Option ID=12170]
3[Option ID=12171]
4[Option ID=12172]

Sl. No.44
QBID:191044




Read the following.

A. So many Prakrit words have been used in Vedic literature.

B. Sanskrit and Prakrit are identical.

C. The langauge of dhavala commentary and inscriptions are identical.

D. There are so many usages of Prakrit in Sanskrit.

E. The main role in the development of modern languages is of tertiary age Prakrit.

Choose the correct answer from the options given below :

1. A, D, E only
2.A.B.Eonly
3.B.C,Donly
4.C,D. E only

1) 1

(2) 2

(3) 3

(4) 4

fafaRad o1 U

A, few-aifge & 950 9 WHaHTT & s T G|

B. §¥hd 3R YIdhd Ub YA G |

C."UadT €Il 3R ¥l BT HINT U THA ¢ |

D. TRGIHN & UTdd & dgd d WA &1

E. MY YTl & fadbrg § qdig-gifiFa-urdd & J3 YHeT ¢

™

i< faU 7T fash el H I Ta8 Iugdd-3TR 61 99 HIfoT ;

1. $dd A, D.E
2. Hdd A.B.E
3.%ddB.C,D
4.bdd C,D, E

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=12173]
2[Option ID=12174]
3[Option ID=12175]
4[Option ID=12176]

Sl. No.45
QBID:191045

Read the following.

A. The literatre of Haribhadrasuri is in tertiary age Prakrit.
B. The languges of mulacara and are not contemporary.

C. Uttaradhyayanasiitra is in secondary age Prakrit.

D. The languages of and paumacariu is contemporary.

E. Svayambht has created his books in tertiary age Prakrit.

Choose the correct answer from the options given below :

A, B.Conly
B.C,D only
3.A,C,Eonly
4.A,C.D only

1) 1

(2 2

3) 3

|
2.




4) 4

frafaRad 1 U

A. ERYSYR &1 Fifged Jia-gri-wihd H ¢ |

B. eER' 3R fad@quuri &1 HIN Juedbiiad ol o
C. 'FIHTTYA feed1d grii-U1ehd H B

D. UIHARE" 3R UIHANS' DI HINT GHDIerb g

E. W9#{ H qdia-gii=-Adhd H A Ta-1 &1 ¢

oy

1< faU 7T fash el | I T98 Iugad-3TR 61 99 HIfoT :

1.hdd A, B, C
2. $dd B, C,D
3. Hdd A, C.E
4. bdd A, C,D

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12177]
2[Option ID=12178]
3[Option ID=12179]
4[Option ID=12180]

Sl. No.46
QBID:191046

Read the following and choose the correct statements.

A. Substitute for aham is hage in magadhi.

B. Substitute for pratyuta is paccaliu in ardhamagadhi

C. Substitute for $ighra is vahilla in .

D. The word is used for bisini in maharastri.

E. Non initial non-conjuct tha is changed into dha optionally in Saurseni.

Choose the correct answer from the options given below :

B. C. E only
C.D. E only
A, B.E only

. C.D only

1.
2]
5
4.
(1) 1
(2) 2

3) 3
(4) 4




RTIRIT YT ue 3R 9el fadhed I |

A HTTE H 31gH & [e1T g7 SR gial o |

B. SN H 'Ygd & [0 g=ers’ SIe=T g

C. 3Oy A =iy & forg afgen smex gl

D. HeRTY! H AR & ferg forfdyolt &1 v g

E. AR H 3F1fe-3igad o &1 'y fddhed Y gIdI g

1< faU 7T fah el H I T8 IUgdd-3TR DI 991 HIfoT ;
1.$dd B, C. E
2. $dAC, D, E
3. Hdd A, B.E
4. PddA,C,D
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=12181]
2[Option ID=12182]
3[Option ID=12183]
4[Option ID=12184]
Sl. No.47
QBID:191047
Read the following and choose the correct statements.
A. The word maskali is used in magadhi.
B. The word mekha is used for megha in Paisacl.
C. The word ahakkhaya is used in ardhamagadhi.
D. The word ammahe is not used in magadhi.
E. The substitute for prayah is praimva in apabhramsa
Choose the correct answer from the options given below :
1. A, C,E only
2. A B.Donly
3.0, D.E only
4.B.C.D only
1) 1
) 2
3) 3
(4) 4
fAafafad d2 ue 3R ggl faded 9 |
A HITE H Rl Rea 1 YA AT 5|
B. U= # A & [T A8 1 ygiT fddi gl
C. JHANTER H "SGR’ Wsg BT YGRT fHeld €|
D. AN} H '3FHE Wed BT WA el Bldl & |
E. 04 H U & U Uit A el o
i< faU 7T fash el H I Ta9 Iuged 3R I 94 DIy ;
1. Pdd A, C,E
2. $dd A, B, D
3.%9d C,D,E
4.9ddB,C,D

1) 1




(2) 2
3) 3
4) 4
1[Option ID=12185]
2[Option ID=12186]

3[Option ID=12187]
4[Option ID=12188]

Sl. No.48
QBID:191048

Read the following and choose the correct statements.

A. The word karya is changed into kajja in Saurseni

B. Substitue for Kautuka is kodda in apabhramsa

C. The word halua is the example of metathesis.

D. The word astavadi is used for arthapati in Saursen.

E. The word svapna is changed to sumina in ardhamagadhi.

Choose the correct answer from the options given below :

1. A, B.D only
2.B, C, E only
3.A,C,Donly
4. A, D, E only

1) 1

) 2

(3) 3

(4) 4

fAufafad H2= ue 3R ggl faded I |

A, IRTH H S @1 uRadq &t J gl g

B. 3TYY ‘B’ Ueg & 010 ‘DI A ST 8|
C. T a5 oY BT GG 6|

D. YRG! H 3rfufer & e 'sRdufe; &1 Uar gl g |
E. eiAnTel § @@y &1 gRad= giHor § giar g

i< faU 7T fash el H I Ta9 Iuged 3R 1 94 DIy ;

1.hdd A. B, C
2. $dd B, C,E
3.Hdd A, C,D
4. Hdd A, D, E

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12189]
2[Option ID=12190]

3[Option ID=12191]
4[Option ID=12192]

Sl. No.49
QBID:191049




Read the following and choose the correct statements.

A. nisithasutra is included in upanga category.

B. Description of asrava and samvar is in prasnavyakarana .

C. Balavabodha is a commentary of canon composed in vernacular.
D. The other name of kasayapahuda is pejjadosapahuda

E. Mainly mulacara is a text of philosophy.

Choose the correct answer from the options given below :

1.B,C,D only
2.A,C.Eonly
3.A,B,Eonly
4.C,D. E only

1) 1

2) 2

(3) 3

(4) 4

fafafad $u= ue SR Igl fadhed 91

A. TR T AR SURT H §IdT ¢

B. UYATH0N H 3THd 3[R JaR H1duH gl

C. I &1 Arp T # IId sares araadrs gl
D. BHAUIES' Bl HIRAH USIG UGS &

E. AR Tyl dwagH H1 9 g

i fau ¢ [dhedl § I Ug1-3R &1 98 DIfoIT :

1.$dd B.C,D
2. $ddA, C, E
3. HddA.B.E
4.$ddC, D, E

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12193]
2[Option ID=12194]

3[Option ID=12195]
4[Option ID=12196]

Sl. No.50
QBID:191050

Read the following pair-statements :

A. taraigavaikaha — mahendrasri
B. l1lavaikaha — kothala

C. nanapaficamikaha — mahesvarasiri

D. nammayasundarikaha — padaliptasuri
E. samaraiccakaha — haribhadrasiiri

Choose the correct answer from the options given below :

1. B, C and E only
2. A, Band C only
3.B.Cand D only
4.C,D and E only

1)1




() 2

3) 3

@) 4

fafafad gu-sy-i 1 ue :
A TUESHEl - HEHYR

B. dldds®el - PldHed
C. AUg=HIBET - HEYRIR

D. THAIPgT - TrglercygR
E. GRIg=hgl -

i< f3U T fah eyl § 9 Yl 3R &I 99+ B ;

1. $Gd B, C 3R E
2. HAAA. B AR C
3. %dd B, C 3R D
4.%ad C,D 3R E

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12197]
2[Option ID=12198]

3[Option ID=12199]
4[Option ID=12200]

Sl. No.51
QBID:191051

Read the following and choose the correct pair-statements.

A. khandakavya — usaniruddham

B. mahakavya — samaraiccakaha
C. kathakavya — samaraiccakaha

D. muktakakdvya — paumacariyam
E. caritakavya — kuvalayamalakaha

Choose the correct answer from the options given below :

1. C and D only
2.Band C only
3. Aand C only
4. Aand E only

1) 1

(2) 2

3) 3

(4) 4




Fafafad gm HuHl $1 e -

A GUESHE - IR

B. Hgl®IM - Hydgl
C.PUDI - TRIGADGl
D. Hadd I - U3HARE

E IRdPIH - HAAUHAIGE]

i< f3U T fah eyl § 9 Yl 3R &1 99+ B :

1.%dd C 3R D
2. HFAAB 3R C
3. HAdA3MRC
4. Fdd A3RE

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=12201]
2[Option ID=12202]

3[Option ID=12203]
4[Option ID=12204]

Sl. No.52
QBID:191052

Read the following

A. Sattaka is named after the heroine.

B. Mrcchakatikam is written in eight acts.

C. The plot of karpiiramanjarT resembles to that of Ratnavali.
D. Rajasekhara had created the Rambhamaijari.

E. The hero of candaleha is steady stylish kind of hero.

Choose the correct answer from the options given below :

.A.Band D only
. B, C and E only
.C,D and E only
.A, CandE only
1
(2 2
(3) 3
(4) 4

g sy e -

A. S ® D] ATHSBRYI ATAD] & AH R §Idl ¢ |

B. Hydicd' 3116 3l H ITd 8|

C. BUHGRI 5P BT YD TdAdal b G g |
D. ISTRRAR = THIHGR] TS T AT

E. dadlel Bl AP dRAAd-UPR BT 40d ¢ |

L I =

.

1< faU 7T fah el # I T8 Iugdd-3TR DI 991 PIfoT ;
1.%dd A, B 3R D
2.%dd B, C 3R E
3.9dd C,D 3R E

4. HAd A, C 3R E




1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12205]
2[Option ID=12206]

3[Option ID=12207]
4[Option ID=12208]

Sl. No.53
QBID:191053

Read the following pair statements.

A. asvaghosa — 1st Century CE

B. kdlidasa — 7th Century CE
C. sudraka — 5th Century CE
D. bhasa — 4th Century CE

E. visakhadatta — 9th Century CE
Choose the correct answer from the options given below :

. (A), (C) and (D) only
.(A). (C) and (E) only
(A). (B) and (C) only
. (B). (C) and (D) only

(1) 1
(2) 2
(3) 3
(4) 4

fAafafad gm-su-Hi o1 4¢ -
A YUY - Ugdl gdl

B. ®Illal - Yddl gdl
C.YEdH - uiad ue)
D. YN - dreludl
E.fovmEea - Fdigdl

i< fau 7T fah el § 9 Yl 3R &I 99+ Bl ;

1.$ddA. C IR D
2. HAd A, C 3RE
3. Hdd A B3R C
4. H9AB, C 3R D

1) 1

() 2

3) 3

4) 4

W I =

.

1[Option ID=12209]
2[Option ID=12210]
3[Option ID=12211]
4[Option ID=12212]

Sl. No.54
QBID:191054




Read the following statements.

A. ASoka has called his inscription ‘dharmalipi’.

B. ASoka did not like the welfare of his people.

C. The capital of the emperor ASoka was in Gujarat

D. Asoka had prohibited the ‘samaja’ (public gathering) near his inscriptions.
E. Asoka used to call himself ‘devanam priya’.

Choose the correct answer from the options given below :

.(A). (D) and (E) only
.(B). (C) and (D) only
.(A). (B) and (E) only
. (A). (C) and (D) only

1) 1
) 2
(3) 3
(4) 4

g U gfeu -

A. =M@ H 30 AeEl I HET Sl gl
B. X191 31=11eh USI-fgd -Tg! drgdi Al

C. QHIC 32N DI AT ToRIT H &

D. 3=N® 7 3ifieRal & THer @ Ay fhar gl
E. 32N + 39 Pl 'aH T Hel el

i faU 7T faeh el # I Ta8 IUYd-3TR D1 94 I :

1. PGd A, D 3R E
2. $Had B, C 3R D
3. HAAdA. B 3IRE
4. BdA A C3RD

1 1
) 2
3) 3
(4) 4

L b =

=

1[Option ID=12213]
2[Option ID=12214]
3[Option ID=12215]
4[Option ID=12216]

Sl. No.55
QBID:191055

Read the following statements.

A. There are four quadrants in gatha metre.
B. gaha is the metre in Prakrit
C. duval is a metre in Prakrit.
D. khandaa is a Prakrit metre.
E. Prakrit paingalam is a grammatical text.

Choose the correct answer from the options given below :

1. (B), (C) and (D) only

2. (A), (B) and (C) only

3. (A). (B) and (D) only

4.(A), (B) and (E) only
1) 1




() 2
3) 3
(4) 4

fgifed Hul $1Ug -

A. TET @ H IR IRUIGIA 5 |
B. TGl WHd-#¢ g |

C. 'gds UIPHd-¥3 5|

D. Wa3f Whd-a ¢|

E. 'UIhd-UTTeH oHihU-4Y g |

I f3U T fahedl § ¥ Hel-3tR &l I99= BIoTs :

1. $dd B, C 3R D
2. HFAAA, B AR C
3. Had A, B 3R p
4. Pdd A. B3R E

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12217]
2[Option ID=12218]
3[Option ID=12219]
4[Option ID=12220]

Sl. No.56
QBID:191056

Read the following statements.

A. Alankaradappana is anonymous.

B. Paiyalacchindmamala is the text on Sanskrit prosody.
C. Rayana vali is a dictionary.

D. Gahalakkhana is text on code of conduct.

E. Vrttajatisamuccaya is a Prakrit prosody text.

Choose the correct answer from the options given below :

.(C), (D) and (E) only
.(B), (C) and (D) only
. (A). (C) and (E) only
.(A), (B) and (D) only
1) 1
(2 2
(3) 3
(4) 4

LTV I o B

=




g HUT e -

A. " 3THR-SUUT F TR 3T ¢ |

B. UISUC=]-AHHATAT TP d §a U= ¢ |
C. Ul DIFT g

D. TETARIUT HHR-RIR ¢ |

E. 'Jo-Slifd-Gg=0 UIhd ©¢-UY g |

i f3U 1T fahedi § 4 Uel 3R DI 90 I ;

1. $9d C,D 3R E
2. $Had B, C 3R D
3. HAd A, C 3R E
4. %dd 4 B, 3[R D

(1)1
) 2
3) 3
(4) 4

1[Option ID=12221]
2[Option ID=12222]
3[Option ID=12223]
4[Option ID=12224]

Sl. No.57
QBID:191057

Read the following statements.

A. An Apabhramsa prosody text has been written by svayambha.
B. The rules for metres have been regularised in the mudraraksasa .
C. Prakrita Paingalam is a prosodic compilation.
D. Karpuramaiijari is a prosodic text.

E. Vrttajatisamuccaya is created by Virahanka.

Choose the correct answer from the options given below :

.(B), (D) and (E) only
. (A). (C) and (E) only
.(B), (C) and (D) only
.(A). (B) and (D) only
1) 1
(2) 2
(3) 3
(4) 4

fFafRad FuT g |

A WY GRT HIHY Fe U ferar g
B. HaRI&™ H $al & g fbar g
C. Wb d-UTTeH Hoblad da-4U gl

D. HUTHORI H&-UU 5|

E. 4-5ilfd 9= faRgich Bt 91 3|

S S I o T

1< fau 7T faeh el H O Te8 Iugdd 3R &I 94 By :
1. %ad B,D 3R E
2. $dd A. C 3IRE
3.%dd B, C, IR D

4. BAdd A, B 3R D




1) 1
(2) 2
3) 3
(4) 4
1[Option ID=12225]
2[Option ID=12226]

3[Option ID=12227]
4[Option ID=12228]

Sl. No.58
QBID:191058

Read the following.

A. The contraction in Prakrit occurs between two words optionally.
B. Long vowel before conjunct is not shortened.

C. Some initial non-aspirate consonants are aspirated.

D. Consonant is found at the end of word in Prakrit.

E. Long vowel with nasal is shortened in Prakrit.

Choose the correct answer from the options given below :

1. (A). (B), (D) only
2. (A). (C), (E) only
3. (B).(C). (E) only
4. (C), (D), (E) onlv
1) 1
() 2
(3) 3
(4) 4
gieRIT &1 ug
A UTdd H &1 Uel # 9= fddhed 9 gl g |

B. HYdd-otioi ¥ Yd &1 &Id-3R g% ol gidl|

C. WG & HRW H $& AeTUIUI-ZSiI DT HIUIU §Icll ¢ |
D. UIdhdl H ¥Isq & 3~ H o &I W gldl o |

E. Uidhd H ARy dd-dIHHMET g&d gldl B

i f4U T fadhedi § U Hel-3tR &l I999 DIoTT ;

1.hdd A, B.D
2. HAd A, C,E
3.%ddB,C.E
4. Hdd C,D,E

(1) 1
) 2
3) 3
(4) 4

1[Option ID=12229]
2[Option ID=12230]
3[Option ID=12231]
4[Option ID=12232]

Sl. No.59
QBID:191059




Read the following.

A. ya, ra, la, va are non-voiced.

B. The vowel r alone in the word is changed to ri.
C. sammam is the example of anaptyxix.

D. l is changed to ili.

E. $a, sa, sa, ha are aspirate consonants.

Choose the correct answer from the options given below :

. (A), (B). (C) only
.(B), (C), (D) only
.(B), (D), (E) only
.(A). (B), (D) only
11
2) 2
(3) 3
4) 4

fafaRad &1 ug

A T3 d G HN-ado gl

B. % ¥R 3fhd sH RN H dedadi |
C. IR TR-YfGd BT 360 6|

D. 'q R & 3fer H uRdad- gidl g |
E. I ¥ ¥ g ASIIUL-&oH § |

i< fou 7T fah el § 9 Yl 3R &I 99+ Bl ;

1. $dd A, B, C
2. $dd B, C, D
3. $dd B, D.E
4. bdd A.B,D

1)1
(2) 2
(3) 3
(4) 4

b I =

.

1[Option ID=12233]
2[Option ID=12234]
3[Option ID=12235]
4[Option ID=12236]

Sl. No.60
QBID:191060

Read the following statements :

A. Sermon of Tirthankaras is divided in these two kinds- samanya and visesa
B. The duties of teachers and disciples are described in drvyasangraha.

C. Acarya Siddhasena has explained Anekantavada.

D. Darsana and Jhana are treated as different in Samimaisuttam.
E. Uttaraddhayayanasiitra is a main text of Jain Mathematics.

Choose the correct answer from the options given below :

1. (B). (D) and (E) only
2.(C), (D) and (E) only
3. (A). (C) and (D) only
4.(B), (C) and (D) only
1) 1
() 2

3) 3




4) 4

frafaRad eyl @1 ufeu -

A, A& ot afl 9HH SR 9y el E gl g 8|
B. %o0iUg H T3-A1% & Bl 1 quiH g |

C. R} R A SHSddle ® RS Pl gl
D. qEEYA H <= 3R I -0 A g |

E. 'SUIHGAYA SA-I0Id 1 FHE-UY G|

i< fau TTU f[ds el § O Gl IR &I 98- HifoTe -

1. %dd B, C 3R E
2. HAAC. D3R E
3. HIA A, C 3R D
4. Pdd B, C 3R D

1) 1

(2) 2

3) 3

4) 4

1[Option ID=12237]
2[Option ID=12238]
3[Option ID=12239]
4[Option ID=12240]

Sl. No.61
QBID:191061

Read the following statements :

A. Gambler is said to be inferior to the blind man in the sravakacara of Vasunandi.
B. Uttaradhyayanastutra is part of eleven angas.

C. Seven nayas have been dealt with in the jianadhikara chapter of pravacanasara.
D. Meditation is the absorption of soul in the self.

E. Public practices also do not do without the theory of relativity (Anekantavada).

Choose the correct answer from the options given below :

. (A), (D) and (E) only
.(B), (C) and (D) only
. (C), (D) and (E) only
.(A), (B) and (C) only
(1) 1
() 2
(3) 3
(4) 4

L D

B




frafaad su=l &1 ufgu -

A, TYAFC-YIaBER H 3iel-ouldd 4 1 Skl &1 g el |
B. STRIG-A' Hdl WRE {71 H qieHferd g

C. YaITUR' & JENHYPR & I 701 HTaviH g |

D. T &1 39 H g1 & o o1 e 8 |

E. 3H®I<IdIE & (941 didb-deR I 78] 9adi g

[

i< faU 7T fah el H I T8 Iuged 3R Bl 99 Doy ;

1.%ad A, D 3R E
2. $HAA B, C AR D
3.$ad C,D 3R E
4. PAAA. B AR C

(1)1
) 2
3) 3
(4) 4

1[Option ID=12241]
2[Option ID=12242]
3[Option ID=12243]
4[Option ID=12244]

Sl. No.62
QBID:191062

Read the following statements.

A. Kuvalayamalakaha is a dogmatic narrative.

B. The language of setubandha is Sauraseni Prakrit.

C. Vibhramalekha is the name of the queen in the Karpuramaijarr.
D. Samraiccakaha is a romantic poetry.

E. Mahakavi is the author of Paumacariu.

Choose the correct answer from the options given below :

. (B) and (C) only
. (A) and (C) only
.(C) and (E) only
.(A) and (D) only
(1) 1
() 2
(3) 3
(4) 4

frafaRad wu=l @1 ufeul

A. DITIHIATHET Uh UHHYT ¢ |

B. Gda¥' DI HIN IRY! UTdhd 6|

C. BUHGRT H I DT A faywear g
D. GRISHHE! U YHARAMS BT g |

E. T3HARS' & ITAHR HeThid U< g |

i< AU 7T faeh el H I T8 Iuad-3TR DI 99 PIfog ;

1. FAAB3R C
2. Had AR C
3. %ad C 3R E
4. A A 3R D

1)1

L D =

.




(2) 2
3) 3
(4) 4
1[Option ID=12245]
2[Option ID=12246]

3[Option ID=12247]
4[Option ID=12248]

Sl. No.63
QBID:191063

Read the following pair of statements —

A. Kandakavya — Gahasattasal
B. Mahakavya — Setubandha
C.Katha — Samaraiccakaha

D. Sattaka — Karpuramaijari
E. Campukavya — Vajjalagga

Choose the correct answer from the options given below :

.(B), (C) and (E) only
.(A). (D) and (E) only
. (A). (B) and (D) only
(B), (C) and (D) only

LV o B

=

1) 1
(2) 2
3) 3
4) 4

Fafafad gm Syl i ufey ;

A GUSHIH - TENAYy
B. HeI®IH - T
C. YDA - FHRISHDGI
D. S - HUIHGRI
E. 9P - ol

i faU T fadhedi § U Ul 3R DI 99 HITIU :

1[Option ID=12249]
2[Option ID=12250]
3[Option ID=12251]
4[Option ID=12252]

Sl. No.64
QBID:191064




Read the following pair of statements and choose the correct pairs statements option :

A. Atthau hoi — Kuvalayamalakaha

B. Amiam Pauakavvam — Mrcchakatikam

C. Tuam una tahim gaccha, jahim me madae padhama dantavalé gada — Karptramaijart
D. Caudahapuvviladuvalasa ngi — Nayakumaracariu

E. dujjanasajjanahu Sahau ehu sihi unhau siyalu hoi mehu —  Setubandha

Choose the correct answer from the options given below :

(C), (D) and (E) only
.(A). (C) and (D) only
. (A). (C) and (E) only
B). (D) and (E) only

L b =

=

1) 1
) 2
(3) 3
(4) 4

frafarad gm-wert &1 afeq U W6l gm-Hl & faded $1 gL -

A. U3 BIg A3 - DHIAHIAIDE

B. 33 U3 3o - [

c. gait{wa%émg uﬂ%ﬁHldiq JeHI Sdldell 71a1 - HUIHSRI
D. I3cgYcadgaradi]

TS ARARS
E. 3oIUY=IUE UER3 UE, %%GUBHW@%% g
i f3u T f[amedi | O Ul 3TR &I 99 BITSIU :

1. $9d C. D 3R E
2. HFIAA, C 3ARD
3. HAd A, C IR E
4.%add B, D ARE

(1) 1
) 2
3) 3
(4) 4

1[Option ID=12253]
2[Option ID=12254]
3[Option ID=12255]
4[Option ID=12256]

Sl. No.65
QBID:191065

Read the following statements :

A. According to the Ghatiyala inscription, Jinanatha is the cause of celestial world and salvation.
B. Kakkuka was like lakshmana of Raghu clan for Padihara dynasty.

C. Kakkuka inscription is situated in Patna.

D. Rajjila was the son of HariScandra and Bhadra.

E. The emperor kakkuka used to honour the vicious persons.

Choose the correct answer from the options given below :

1. (B), (C), (D) only
2. (A), (B), (D) only
3. (A). (B), (C) only
4.(C), (D), (E) only

1)1




) 2
3) 3
4) 4

9 PUF & Ug -

A 9feTTd I & IR Wi 3R Ale D1 & § (e 514 ¢ |
B. Hddpd UfSER 9% & [T IgPpdl b d&HU oY |

C. DIHh HfH el e H RUd g

D. I(Td RS 3R HZT BT L |

E. XSl b GUGIHI bl YREDBR &l AT

i f3U 1T fahedi § 4 Uel 3R DI 90 I ;

1.$dd B, C, D
2. $dd A, B, D
3. HAdd A B, C
4. $dd C.D.E

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12257]
2[Option ID=12258]
3[Option ID=12259]
4[Option ID=12260]

Sl. No.66
QBID:191066

Match List I with List IT

LISTI LISTII
A lafga canon I. Jmodern age language
B |dasavaikalika | II Jtertiary age Prakrit
C. |setubandha ITT. |secondary age
D. [sujarati IV Jprimary age

Choose the correct answer from the options given below:

(A)-(IV), (B)~(TII), (C)-(II), (D)~(I)
- (A)-(TII), (B)-(IV). (C)~(I). (D)-(II)
. (A)~(IV), (B)~(ID). (C)~(I), (D)-(I1I)
- (A)-(II), (B)~(III), (C)-(IV). (D)~(I)
(1) 1
(2) 2
3) 3
(4) 4

el 161 i 1 9 fAaH Siforg

T 1 T 1
SHTSTH L [smyHe-gria yi|
|ezaetas | 1 [gda-giE widd
T | [ g wea
JERGI] V. [Yq-3H

frafafad fasedl § 9 98l SR &1 9899 Sifore :

CA-TV, B-111, C-11, D-1
. A-III, B-TIV, C-1, D-II
.A-IV, B-11, C-1, D-III
. A-IL B-II1, C-IV, D-1
(1) 1

b b

.

ofo]w]>

[ S T

I




(2) 2
3) 3
(4) 4
1[Option ID=12261]
2[Option ID=12262]

3[Option ID=12263]
4[Option ID=12264]

Sl. No.67
QBID:191067

Match List I with List IT

LISTI LISTII
A |gaéca I. |paisact
B. tumbakam II. Jardhamagadhi
C. |cthura ITT. jmagadhi
D. [tigiccha IV, Imaharastn

Choose the correct answer from the options given below:

. (A)-(IV), (B)-(III), (C)-(II), (D)~(I)
- (A)-(IT), (B)~(IV), (C)~(1), (D)-(I1ID)

f—

[

3. (A)-(III), (B)-(I), (C)-(IV), (D)-(II)
4. (A)-(I). (B)-(I), (O)~(IV). (D)-(ITI)
1) 1
) 2
3) 3
4) 4
Gl 161 i 11 9 fae Sifog
e 1 T I
A [y il EEIE]
B. [pqed 1 [sefmme
C. [ TIL [AFTE
D. [[aiT=s1 IV. [HERT¥

Frafeiad faeeddl & ¥ gl 3T &l 99 Hifoe ;

ATV, B-III, C-I1. D-1
AL B-TV, C-1, D-III
. A-IIL B-1, C-1V, D-II
. A-1, B-IT, C-1V, D-III
(1) 1
(2) 2
3) 3
4) 4

[FURN G -

o

1[Option ID=12265]
2[Option ID=12266]
3[Option ID=12267]
4[Option ID=12268]

Sl. No.68
QBID:191068




Match List I with List IT

LIST I LISTII
A [Niryuktikara I. Pinadasgani
B [Bhasvakira II. |JAbhavadevasiiry
C. |Cornikara III. [Bhadrabihu
D |Tikakara IV. [linabhadragani

Choose the correct answer from the options given below:

. (A)-(II), (B)~(I). (C)-(IV), (D)-(III)
(A)-(IV), (B)-(IID), (C)-(I). (D)-(1I)
. (A)-(IID), (B)-(IV), (C)-(I), (D)-(1I)

D =

4. (A)-(II). (B)-(IV). (C)-(I). (D)-(III)
1) 1
) 2
3) 3
(4) 4
el 161 i 1 9 fAaH Sifog
AT Tt I

A [FdidadR | L [EHerE

B. &R 1 [31HaGag

C. [giiaR il TEEIH

D. EIPIdR IV, [+

fafeRad fawedl & I I8t 3R &1 999 BIfT -

1. A-II. B-1. C-1IV. D-1II
2. A-IV, B-1II. C-1. D-II
3. A-III, B-1V, C-I, D-1I
4. A-II, B-IV. C-1. D-1I1

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=12269]

2[Option ID=12270]

3[Option ID=12271]
4[Option ID=12272]

Sl. No.69
QBID:191069

Match List I with List IT

LISTI LISTII |
Caritakavya I. |Samaraiccakahal
Muktakakavva | II. [Kamsavaho
[ athakavya ITT. |Paumacariyam
[Kandakavva IV, |Gahasattasal

ofofw|-

Choose the correct answer from the options given below:

. (A)-(I), (B)-(ID), (C)-(IV), (D)-(III)
. (A)-(II), (B)-(III), (C)~(I), (D)-(IV)
. (A)-(IID). (B)-(IV), (C)-(I). (D)-(II)
. (A)-(IV), (B)-(II), (C)-(I), (D)-(III)
1) 1
(2) 2
(3) 3
4) 4

L b

B




el 161 i 1 9 fAae Sifog

A1 Tt 1
EGEIE 1 [FRE=%w

Hodoar | 1L [ddas
ERIEAE: IIL. [g39=d

Eusser |1V [IeNaas
e famedl # I U5l SR &I T8 DI :

ofow]>

1. A-I, B-II, C-IV, D-III
2. A-I1, B-1I1, C-1, D-IV
3. A-III, B-IV, C-1, D-1I
4. A-IV, B-I1, C-1, D-IIT

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12273]

2[Option ID=12274]

3[Option ID=12275]
4[Option ID=12276]

Sl. No.70
QBID:191070

Match List I with List IT

LISTI LIST II
[Bhasa I. |1st Century CE
[Kalidasa II. |8th Centurv CE|

|Asvaghosa ITT. |31rd Century CE|
. [Bhavabhit IV. Hth Century CE|

o|o|w|=

Choose the correct answer from the options given below:

- (A)-(ID). (B)~(I), (C)-(IV), (D)-(I1I)
. (A)-(IID), (B)-(IV), (C)-(I), (D)-(11)
. (A)-(I). (B)-(IID), (C)~(ID). (D)-(IV)

L D

4. (A)-(IV), (B)-(II), (C)-(IIT), (D)-(T)
1
2 2
3) 3
(4) 4
el 161 I 1 9 fAae Sifog
T 1 T I

A g L |1 il gadl
B. [@Iicia™ 1 |s df & 35dt

C_ [erEmy 1L |3 9 9t gt

D. [Hayfd V. |4 o g2 g6dl

frafaRad fabel # 9 9gl IR &1 98- S ;

CA-IL B-1, C-TIV, D-1IT
. A-III, B-TIV, C-1, D-II
. A-I, B-III, C-II, D-IV
.A-TV, B-11, C-1I1, D-1
1) 1
(2) 2
(3) 3
(4) 4

(ST S I

I

1[Option ID=12277]
2[Option ID=12278]




3[Option ID=12279]
4[Option ID=12280]

Sl. No.71
QBID:191071

Match List I with List IT

LIST1I LIST II
A |Ashoka inscriptions I. |Allahabad
B. | Hathigumpha inscriptions| II. |Ghativala village)
C. |Kakkuka inscriptions 111 |Girandra
D. |Pabhosi inscriptions IV, [Kumari Parvata

Choose the correct answer from the options given below:

. (A)-(IIT), (B)-(IV), (C)-(II), (D)-(I)
. (A)-(II), (B)-(I1T), (C)-(I), (D)-(IV)
. (A)-(III), (B)-(I), (C)-(IV), (D)-(II)
. (A)-(I), (B)-(IT), (C)~(II1), (D)-(IV)
(1) 1
(2) 2
(3) 3
(4) 4

el 161 i 1 9 fAaH Sifog
T I Tt I

A smie-Rracd | 1 [gameEe
[T wI-aiftica| 11 [afears-am
[ddd - HeRd [ L [TRAR
e RieE |1V [GARI-gad

Fgfafad [deedl O 9 981-3wR &l 99 DIfoTu ;

. A-IILL B-IV, C-I1, D-1
AL B-IITL, C-1, D-IV
. A-IIL B-1, C-1IV, D-II
. A-I, B-II, C-III, D-IV
(1) 1
(2) 2
3) 3
4) 4

b I

B

o|o|w

LV I O

.

1[Option ID=12281]
2[Option ID=12282]
3[Option ID=12283]
4[Option ID=12284]

Sl. No.72
QBID:191072

Match List I with List IT

LISTI LISTII
[Prakrit sarvasva I. laksmidhara
[Prakrit ripavatara |11 [vararuci
sadbhdsd candrika |[IIjmarkandeva
[prakrita prakasa IV [simhardja

=il Io2] 1o

Choose the correct answer from the options given below:

. (A)-(I), (B)-(IV), (C)-(I1I), (D)-(I)
. (A)-(IIT), (B)-(I), (C)-(II), (D)-(IV)
. (A)-(IIT). (B)-(IV), (C)-(I), (D)-(II)
. (A)-(D, (B)-(ID), (C)-(IV), (D)-(IID)
(1) 1
(2) 2
3) 3
(4) 4

L I =

I




el 161 i 1 9 fAae Sifog

A1 T I
A_oa gdw L [qeR
B. |Uipd-wuEdR | 1. [Reh
C. [ggym-atser |1 [aavea
D [ygpdrerm | Iv [

frafofad fawedl # 9 9el-3wR &1 = i -

. (A)-(IT). (B)-(IV). (C)~(III)., (D)-(I)
. (A)-(ITI). (B)-(D). (C)-(II), (D)-(IV)
- (A)-(III), (B)-(IV), (C)~(I), (D)-(II)
. (A)-(I), (B)-(II), (C)-(IV). (D)-(I1I)
(1) 1
(2) 2
(3) 3
4) 4

('S T O

B

1[Option ID=12285]
2[Option ID=12286]
3[Option ID=12287]
4[Option ID=12288]

Sl. No.73
QBID:191073

Match List I with List IT

LISTI LIST II
A |bhariva I. [vowel contraction
B [takka II. metathesis
C. [vasest III. Jassimilation
D. |anala V. Ianap‘r}xix

Choose the correct answer from the options given below:

. (A)-(IV), (B)-(III), (C)-(I), (D)-(1II)
. (A)-(I), (B)-(II), (C)-(IV), (D)-(I1I)
. (A)-(II). (B)-(III). (C)-(I), (D)-(IV)
. (A)-(III), (B)-(I), (C)-(II), (D)-(IV)
1) 1
(2) 2
(3) 3
4) 4

el 161 i 1 9 fAae Sifog

A1 Tt I
T 1 [
GED 1. [guiogey
[Tt 111, [t
HTOTTE IV, [seyidd

frafaRad fabedl # 9 Ugl IR &1 T8 B ;

. (A)-(IV), (B)-(IID), (C)-(I), (D)-(II)
(A)-(D), (B)(ID), (C)-(IV), (D)-(I1I)
. (A)-(I), (B)-(I1I), (C)-(I), (D)-(IV)
. (A)-(IIT). (B)-(I), (C)-(II), (D)-(IV)
(1) 1
(2) 2
(3) 3
4) 4

[ I S

.

ofofw]>

('S T O

B

1[Option ID=12289]
2[Option ID=12290]




3[Option ID=12291]
4[Option ID=12292]

Sl. No.74
QBID:191074

Match List I with List IT

LISTI LISTII
A carangasiitra [. |Dhammo puggalajivana gamanasahayari
[Pravacanasara I1. [Dhammomangalamuklattham

. [Dravva-sangraha |III. [Khanam j3 n ghi pandie
. [Dasavaikalikasttra) [V. [Davva- guna - pajjayattho atto

o|ofw|=

Choose the correct answer from the options given below:

- (A)-(D. (B)-(II), (C) (III] (D)-(IV)
(A)-(IID), (B)-(IV), (C)-(I), (D)-(II)
. (A)-(ID), (B)-(1), (C (IV), (D)-(III)
(A)-(IV), (B)-(I1I), (C)-(II), (D)-(I)

b D

I~

1) 1
(2) 2
(3) 3
(4) 4

Gl 161 i 1 9 fAae Sifog

AT T I
SR | 1 [¢FH1 geTesiian TR
EEERLI 11 (¢ HiTeHaDs
EEARD 111. | @i Sronfe digu
_emderae g | v [eeasmad s

FafeRad fawedl § O Il 3R &1 90 Bt :

ofofw]>

(A)-(I), (B)-(II), (C)~(III), (D)-(IV)
(A)-(II), (B)-(IV). (C )(I) (D)-(II)
(A)-(II), (B)-(I), (C)~(IV). (D)-(III)
(A)-(IV), (B)-(III), (C)-(II), (D)~(I)

LS N T

=

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=12293]
2[Option ID=12294]

3[Option ID=12295]
4[Option ID=12296]

Sl. No.75
QBID:191075

Match List I with List IT

LISTI LISTII |
. [Viragasetu I. |Acarya Sunila Sagara|
. |Titthavara II. |Candana Muni

. |Candana Mumi | III. PMuni Sagara
. [Ravanavilakaha) IV. [Uda: Chandra Jain

w]le]l-1k=

Choose the correct answer from the options given below:

. (A)-(I), (B)~(IV), (C)-(I), (D)-(III)
. (A)-(IV), (B)- {III] C)-(I), (D)-(ID
. (A)-(IV), (B)-(I (C) IT), (D)-(I1I)
(A)-(IIT), (B)~(IV), (C)-(IT), (D)-(T)

mr_h»—.

.J'*

1 1
) 2




(3) 3
(4) 4

el 161 i 1 9 fAaH Siforg

GGl il
_Jfarrrg L | gHia ||
TR Han | 1L [g<=giH
|y | 0L g g gRR

WUEaeel | IV, [3eaag o

frafafad fasedl § O 98l SR &1 999 Sifore

o|o]w]>

1. (A)-(II). (B)-(IV), (C)-(I). (D)-(III)
2. (A)-(IV), (B)-(III), (C)~(I), (D)~(II)
3. (A)-(IV), (B)-(D), (C)-(II), (D)-(I1I)
4. (A)-(IIT), (B)-(IV), (C)-(II), (D)-(I)

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=12297]

2[Option ID=12298]

3[Option ID=12299]
4[Option ID=12300]

Sl. No.76
QBID:191076

Arrange the following chronologically from former to later period

A dodhakavrtti

B. prakrit dhammapada
C. sukhabodhatika

D. upanga literature

E. vasudevahindi

Choose the correct answer from the options given below :

. (A), (B), (©), (D), (E)
. (B), (D), (C), (A), (E)
. (D). (A), (C). (B). (E)
(B). (D), (E), (C). (A)

LIPS o T

=

1)1
(2) 2
(3) 3
(4) 4

afcRad 1 d 9 Radl-BIashHITIR HafRId B |
FNEALEIN

B. YIhd-4#Yq
C. gEdIdlD]
D. 3UiI-HIigd
E. 94cdfgsl

i< foU T fadhedi § U-Tg! IR &I I9H DT ;

.(A). (B). (C). (D), (E)
. (B). (D), (C), (A). (E)
. (D), (A), (C).(B), (E)
.(B). (D), (E), (C), (A)
(1) 1

(ST S )

I




(2) 2
3) 3
(4) 4
1[Option ID=12301]
2[Option ID=12302]

3[Option ID=12303]
4[Option ID=12304]

Sl. No.77
QBID:191077

Read the following and arrange them as per case order

munthinto
munimmi
munina
munissa
munim

monwr

Choose the correct answer from the options given below :

=

(C). (E). (D), (A). (B)
. (B). (A), (D), (C), (E)
(C). (D). (A). (E). (B)
-(E), (C), (A), (D), (B)
@ 1
@) 2
@) 3
) 4

fFrafeRad ®1 9 ok 32 faufdd & o uR rafiyd $|
A. HoUiifgaT

B. HIUIHY

C. gforon

D. HURY

E. Hf0i

1< faU 7T fashedl & 9 Tt 3R ol =g+ HIfoT -

(C). (E), (D), (A). (B)
. (B), (A), (D), (C), (E)
(C). (D), (A).(E). (B)
AE)(C), (A), (D), (B)
(1) 1
) 2
3) 3
(4) 4

LUV o B

=

L R O R

I

1[Option ID=12305]
2[Option ID=12306]
3[Option ID=12307]
4[Option ID=12308]

Sl. No.78
QBID:191078




Arrange following texts according to canonical category

A. Nisihasutta

B. Causarana

C. Antagadasao
D. Pannavanasutta
E. Avassayasutta

Choose the correct answer from the options given below :

1. (B). (E). (C). (A). (E)
2. (C). (D). (A). (E). (B)
3. (D). (A), (E). (C). (B)
4.(E). (C). (A). (B). (D)
1) 1
() 2
(3) 3
(4) 4
1% UT 1 SFTH-9U7 SHHIER oaaiRyd i |
A lﬁ ansﬁfi
B. I3[
C. SiaTSeHrsi
D. YUUIGUIRI
E. AR
i< fau e faedl # I 961 SR 1 9 SIS

1. (B). (E). (C), (A), (E)
2. (©), (D), (A), (E), (B)
3. (D), (A), (E). (C). (B)
4.(E). (C).(A). (B). (D)

(1) 1

) 2

(3) 3

(4) 4

1[Option ID=12309]

2[Option ID=12310]

3[Option ID=12311]
4[Option ID=12312]

Sl. No.79
QBID:191079

Arrange the following text in chronological order — (from early to later period)

A siricindhakavvam
B. kumarawalacariyam
C. siriwalakaha

D. kummaputtacariyam
E. gaudavaho

Choose the correct answer from the options given below :

. (A), (C), (D), (B), (E)
. (E). (B). (A), (C), (D)
(C), (A), (B), (D), (E)
(B). (C), (D). (A), (E)

L D =

e

1) 1
() 2
(3) 3




(4) 4

fafaiad Tl &1 STasATaR afyd & (Yd 9§ iRadl w0 ) -

i fau TTE fdhedl § I UE1-3R &1 98 DIfviT :

1. (A), (C). (D
2. (E), (B), (A
3. (C), (A). (
4. (B). (O). (
1

@ 2

@) 3

(4) 4

(B). (E)
(C). (D)
(D). (E)

(A), (E)

),
).
B).
D).

1[Option ID=12313]
2[Option ID=12314]
3[Option ID=12315]
4[Option ID=12316]

Sl. No.80
QBID:191080

Arrange the following texts in chronological order (from early to later period) :

A, mudraraksasam
B. mrechakatikam
C. avimarakam

D. rambhamaijari
E. malatimadhavam

Choose the correct answer from the options given below :

(C). (B).(E). (A), (D)
. (A), (B), (D), (E). (C)
(B). (A). (C). (E). (D)
(C). (D). (B). (A), (E)

LI (N T

e

1)1
(2) 2
(3) 3
4) 4

TR Ul &1 BIAHHIR aRYd B (Yd U URddd(-s6H H) -

A, HERI&RTH
B. H3dhichH
C. SHfdARSH
D. YHTHSRI

E. HIAdHIYGH

i fau U f[d el § U Tl IR &I 98- HifoTe -

1. (C), (B). (E). (A). (D)

2. (A). (B). (D). (E). (C)

3. (B). (A). (C). (E). (D)

4.(C)., (D), (B). (A), (E)
(1) 1




(2) 2
3) 3
(4) 4
1[Option ID=12317]
2[Option ID=12318]

3[Option ID=12319]
4[Option ID=12320]

Sl. No.81
QBID:191081

Arrange the life events of king kharavela as per the order in the inscription

A. extending the canal upto the city.

B. sending the army in west direction.

C. renovation of buildings.

D. organising festivities in the city.

E. getting his feet saluted by rastrika bhojakas.

Choose the correct answer from the options given below :

. (A), (B), (C), (D), (E)
. (©), (D). (B), (A). (E)
(C). (B). (D). (E). (A)
- (B)(C); (D). (A), (E)
(1)1
) 2
(3) 3
(4) 4

TYIE WRAA & oifa @1 geA13i &I RIarerg & quiH-H # aaiyd & -

A. A Bl AU TR I AT

B. GiH-fE=M H 10907 |

C. Ha BT STGR |

D. TR H IHd BT

E. 941 AP P-HISTh| I UIe-de1 S|

i< fau U f[d el § O Gl IR &I 98- Hifee -

1. (A), (B), (C), (D), (E)
2. (C), (D), (B), (A).(E)
3. (C), (B), (D), (E), (A)
4. (B). (C). (D). (A). (E)

(1) 1

) 2

3) 3

(4) 4

LTS O T

B

1[Option ID=12321]
2[Option ID=12322]
3[Option ID=12323]
4[Option ID=12324]

Sl. No.82
QBID:191082




Arrange these authors chronologically

A. hemacandra
B. canda

C. laksmidhara
D. trivikrama
E. vararuci

Choose the correct answer from the options given below :

(A). (B). (C), (D). (E)
. (B), (E), (A), (D), (O)
. (D), (A), (B), (C), (E)
(A, (C), (D). (B), (E)
1 1
) 2
3) 3
(4) 4

29 TAIDR] Pl HIdAHH H aRYUd B -
A BUER

B.dUg
C. d&ieR
D. [AfdshH
E. 933

i< f3U T fah eyl § 9 Yl 3R &1 99+ B :

1. (A), (B), (C). (D). (E)
2. (B), (E). (A), (D), (C)
3. (D). (A). (B), (C).(E)
4. (A), (€), (D), (B), (E)

1) 1

(2) 2

(3) 3

(4) 4

d D =

o

1[Option ID=12325]
2[Option ID=12326]
3[Option ID=12327]
4[Option ID=12328]

Sl. No.83
QBID:191083

Arrange the following as per the case order

A. ramanam
B. munthinto
C. bhanavo

D. savam

E. tumhasu

Choose the correct answer from the options given below :

. (A), (B), (C), (D). (E)
. (C), (D). (B), (A). (E)
(B). (C), (D), (A), (E)
(C).(A), (B). (D), (E)

L D =

e

1) 1
() 2
(3) 3




4) 4

faferad o favldd & oA I caalya &3

A. 0]

B. Huiifedl

C. YUl

D. 9od

E. R

i< fau TTU f[ds el § O Gl IR &I 98- HifoTe -

1. (A), (B), (C), (D), (E)
2. (C), (D), (B). (A).(E)
3. (B). (C), (D), (A), (E)
4. (C). (A), (B). (D). (E)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12329]

2[Option ID=12330]

3[Option ID=12331]
4[Option ID=12332]

Sl. No.84
QBID:191084

Read the following texts and arrange these in chronological order from early to later period —

A. Sammaisutta

B. Dravya-saigraha

C. Acarangasiutra

D. Vasunandisravakacara
E. Pravacanasara

Choose the correct answer from the options given below :

1. (A), (C). (B), (E) and (D)
2.(C). (E). (A), (B) and (D)
3. (E). (A). (C). (D) and (B)
4. (D). (B). (E). (C) and (A)
1) 1
) 2
3) 3
4) 4
FRfRIT Bl &l Ue 3R 3¢ BIAHHHR YRR U 3ifcH BH H oaieyd oY -
A JHggd
B. 44 Ug
C. MERIRE
D. TYAGYTTHTER
E. Yd9-9R
HId feu T fasedi # 9 el 3R &1 994 Bl -
1. (A), (C), (B). (E) 3R (D)
2 (C] (E). (A). (B) 3R (D)
E). (A). (C) (D) 3R (B)
4 (D). (B), (E). (C) 3R (A)




1) 1
(2) 2
3) 3
(4) 4
1[Option ID=12333]
2[Option ID=12334]

3[Option ID=12335]
4[Option ID=12336]

Sl. No.85
QBID:191085

Arrange the following authors in chronological order (from later to early period)

A. Uddyotanasuri

B. Vattakera

C. Pravarasena

D. Muni Pranamya Sagara
E. Mahakavi Puspadanta

Choose the correct answer from the options given below :

(D), (E), (A), (C), (B)
(C). (B). (D), (E), (A)
(B). (C), (E). (D). (A)
(B). (A). (D). (E)., (C)

ad D =

o

(1) 1
(2) 2
(3) 3
(4) 4

frafeed JueRT @l BIApHTIR Hafd HY (d1E Y YR & HH H) -

A JGAEATER
B. dgdR
C. Jay
D. AFYURERR

E. HgThd qua-d
i fau e fasbedi # 9 Hgl IR &1 T BN -

1. (D). (E). (A). (C).(B)
2.(C), (B). (D), (E). (A)
3. (B). (Q). (E), (D). (A)
4. (B). (A), (D), (E). (C)

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=12337]
2[Option ID=12338]
3[Option ID=12339]
4[Option ID=12340]

Sl. No.86
QBID:191086

Given below are two statements :

Statement (I) : The final consonant is generally dropped in Prakrit.

Statement (IT) :  Sarit is changed into saria in Prakrit.

In the light of the above statements, choose the correct answer from the options given below :

. Both Statement (I) and Statement (II) are true
. Both Statement (I) and Statement (II) are false
. Statement (I) is true but Statement (II) is false
. Statement (I) is false but Statement (II) is true

R




1) 1
(2) 2
(3) 3
(4) 4

ECRA RIS AT
DY (1): Wihd H SffdH-ATH PIAY I B |
DY D) :  UIhd H IR &1 IRad— R A glar g |

IR DU & 3l |, A1 ST U [ddhed] § 9 Tol-3wR 99 Bifolg

1. HUA (1) 3R () aHI 9 &

2. HYA (1) 3R (1) SHT 3T ©

3. YA (1) I &, dichd HUH (1) >d &
4. U (D) AT &, AP FUT (I T ©

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12341]
2[Option ID=12342]
3[Option ID=12343]
4[Option ID=12344]

Sl. No.87
QBID:191087

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) :  The narratives of Prakrit literature are indicative of Jain tenets.

Reason (R): Samaraiccakaha is a religious narrative.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) is correct but (R) is not correct
4. (A) is not correct but (R) is correct
1) 1
(2) 2
3) 3
4) 4

:ﬁaﬂiﬁﬂqﬁqw%:waﬁ-@%ﬂ(m%mon (A)%Wﬁ%@ﬁ%?ﬁme(Rﬁson (R}%Wﬁ:
BUT (A) : WP d-UIfgA Bl HUT SH-RIgT-au ¢

PRU(R):  URISAPe Uh YHHUT g |

IWRIGd HY b 3l H, =it T Y [ edl # ¥ a8 Iugdd-3IR &1 94 Piforg

.(A) 3R (R) ST TEI © 3R (R). (A) P! Gl BN

_(A) 3R (R) aFI Tal &, WfdH (R), (A) P! o |-odRST 61 &
 (A) 981 B, b1 (R) UG 81 ©

(A TR R, AT R) TS ®

1)1
(2) 2
(3) 3
(4) 4

LS e R

B

1[Option ID=12345]
2[Option ID=12346]
3[Option ID=12347]
4[Option ID=12348]

Sl. No.88
QBID:191088




Given below are two statements ; One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) :  Asoka prohibited the killing of living beings in rituals.

Reason (R): Asoka got the wells digged and got the trees planted for the welfare of public.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A
3. (A)is correct but (R) is not correct

4. (A) is not correct but (R) is correct

(1) 1
(2) 2
(3) 3
(4) 4

ﬁﬁﬁﬁﬂ%ﬂﬁ@% : @ \3'|ﬁ‘|—559‘|:[ (Assertfon (A)) %Wf{ﬁﬂ@ﬂ% (_"ﬁ %‘H“ G hRYJ (Reason (R}) $Wﬁ

S () SR T FHPTIS 4 Sffq-fgar o1 iy fpar g
BRU(R):  3HRNP - Yolligd o [ ASTHRT IR $Y F&ar 3R F&RYU BT |
SIS HY &b el H. =i Y Y f[dedl # ¥ a8 Iugdd-3tR BT 94 Pifoig

L(A) 3R (R) ST G © 3R (R), (A) B! el AT ©

.(A) 3R (R) aFI Uel g, dfdA (R), (A) P! Uol ARAT el &
(A)TEl e, dfp (R) TEl ST &

(A) eI 181 8, &b (R) 91 8

1 1
) 2
(3) 3
(4) 4

B W R =

1[Option ID=12349]
2[Option ID=12350]
3[Option ID=12351]
4[Option ID=12352]

Sl. No.89
QBID:191089

Given below are two statements :

Statement (I) : Anaptyxix is done in order to complete the poetic metre.

Statement (IT) : The elison of letters in Prakrit is done for the ease of pronunciation.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement (I) and Statement (II) are correct
2. Both Statement (I) and Statement (II) are incorrect
3. Statement (I) is correct but Statement (II) is incorrect
4. Statement (I) is incorrect but Statement (II) is correct
1) 1
(2) 2
3) 3
4) 4

BEECREACTERI

DYT(1):  UIbd H TR-Hidd ureyfd & g &1 Sirdi g |

DYTIN :  Widd H qull I Al FERV-Yld e @ oY [l Sl g |
SWRIFd HU & 3Talled H, i< ST MY f[dhedl # 9 a8 Iugad-3wR Bl 99 BHifolg

1. Y (1) 3R () &1 el &
2. Y (T) AR (1) 1 TTed &
3. YA (1) Jel B, dided YA (1) a4 &
4. HYE (1) TTAd &, dichd ®UH (1) Tal &

1) 1




(2) 2
3) 3
4) 4
1[Option ID=12353]
2[Option ID=12354]

3[Option ID=12355]
4[Option ID=12356]

Sl. No.90
QBID:191090

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) :  The soul enjoys the fruits of material acts from pragmatic standpoint.

Reason (R): The souls, void of material mud, are subject to liberation.

In the light of the above statements, choose the correct answer from the options given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
3. (A)is true but (R) is false

4. (A) is false but (R) is true

1

(2 2

(3) 3

4) 4

?ﬁa?ﬁﬁﬂqﬁﬂ@% ; @M\W?‘H(Assenion ) %Wf{ IE @Ei %, (_‘ﬁ R 3P DIRY[ (Reason (R})aﬂ?ﬂ[ﬁ

SARFUT (A): T AAERAY U YgaHd HH b Bl Dl HITAI 5|
BRUN(R): ol oiid fawdi & P19 YR WA ¢, 3 fagaa g o &
SWRIGd DY & 3Melld H, =i T MY f[deedl # ¥ 9el-3wR D1 997 DIy

(A) 3R (R) T 9 & 3R (R). (A) DI Tel-adR &

(A) 3R (R) aFT U &, AfFA (R), (A) B! Tgl-AAT T8l &
(A) I, AP (R) 3T @
[(A)3d g, Wi (R) T ©

1) 1
(2) 2
(3) 3
(4) 4

L O R

N

1[Option ID=12357]
2[Option ID=12358]
3[Option ID=12359]
4[Option ID=12360]

Sl. No.91
QBID:191091




geham dhanam kalattadi rayasuham nadullaho.

ikko hi dullaho dhammo bohim mokkhassa dayago.

so dhammo duviho gevo sayaro anayvare va.
anuvvada-mahavvado jutto kamena bhasido. (2)
catta samjame hi 2SaINjamam savvam pavattanam
egena dukkhasamsaro annena sagga-mokkho ya.
egendiya jive ya ma tucche manna sajjana

appd savvesu jivesu guni sada. (4)

atitti-janagam kamam tavakarinam dukkhadam

deha-kadatthenuvvannam kimci ko sevade buho
g 4Ui adiie, IIYg Ul gevig! |
Sah] e goetel UFHT, SIfg AR STl 1)
Il 4FAT gfdg! Uil IRl 3UERI A
SU[dE-Hgodal, Sl HHOT HIRET Il 21
Il 3o Hod, HorH fg gaguil

TI0] GRAHHRI, U0 GEL-HIGE T || 3
Wifey Siid g, AT g=5 HUUl I |

3 oy Sy, ﬁm@ﬁqﬂﬁﬂamn

-STURT 1A, SICCAIRY gq{gdl
dsmqqu\gmumﬁ |$ < ﬁﬁaﬁrgﬁ[ll S

This has been said to be rare in the above verses

1. Roya pleasure
2. Prosperity
3. Religion

(4) 4

SRR TSl H 39D UG geiH Hol TRl 6-

1. IS gE
2. T
3. 4H
4. qHH
1) 1
(2) 2
3) 3
4) 4

1[Option ID=12361]
2[Option ID=12362]
3[Option ID=12363]
4[Option ID=12364]

Sl. No.92
QBID:191092




geham dhanam kalattadi rayasuham nadullaho.

ikko hi dullaho dhammo bohim mokkhassa dayago.

so dhammo duviho gevo sayaro anayvare va.
anuvvada-mahavvado jutto kamena bhasido. (2)
catta samjame hi 2SaINjamam savvam pavattanam
egena dukkhasamsaro annena sagga-mokkho ya.
egendiya jive ya ma tucche manna sajjana

appd savvesu jivesu guni sada. (4)

atitti-janagam kamam tavakarinam dukkhadam

deha-kadatthenuvvannam kimci ko sevade buho
g 4Ui adiie, IIYg Ul gevig! |

Sah] e goetel UFHT, SIfg AR STl 1)
Il 4FAT gfdg! Uil IRl 3UERI A
SU[dE-Hgodal, Sl HHOT HIRET Il 21

Il 3o Hod, HorH fg gaguil

TI0] GRAHHRI, U0 GEL-HIGE T || 3
Wifey Siid g, AT g=5 HUUl I |

3 oy Sy, ﬁm@ﬁqﬂﬁﬂamn

-STURT 1A, SICCAIRY gq{gdl
dsmqqu\gmumﬁ |$ < ﬁﬁaﬁrgﬁ[ll S

The word ‘anayaro’ in above verses stands for

1. householder
2. world
3. renounced ascetic
4. heaven
1) 1
(2) 2
(3) 3
) 4

SR TSl H U Ted "HURRY BT 34 § -

1. 41dH
2. 99OR

3.7
4. 591
1) 1
(2) 2
3) 3
4) 4
1[Option ID=12365]
2[Option ID=12366]

3[Option ID=12367]
4[Option ID=12368]

Sl. No.93
QBID:191093




geham dhanam kalattadi rayasuham nadullaho.

ikko hi dullaho dhammo bohim mokkhassa dayago. (1)
so dhammo duviho gevo sayaro anayvare va.

anuvvada-mahavvado jutto kamena bhasido. (2)

catta samjame hi 2SaINjamam savvam pavattanam

egena dukkhasamsaro annena sagga-mokkho ya.  (3)
egendiya jive ya ma tucche manna sajjana

appd savvesu jivesu guni sada. (4)

atitti-janagam kamam tavakarinam dukkhadam

deha-kadatthenuvvannam kimci ko sevade buho  (5)
g 4Ui adiie, IIYg Ul gevig! |

Sah] e goetel UFHT, SIfg AR STl 1)

Il 4FAT gfdg! Uil IRl 3UERI A
SU[dE-Hgodal, Sl HHOT HIRET Il 21

Il 3o Hod, HorH fg gaguil

TI0] GRAHHRI, U0 GEL-HIGE T || 3

Wifey Siid g, AT g=5 HUUl I |

3 oy Sy, ﬁm@ﬁqﬂﬁﬂamn

-STURT 1A, SICCAIRY gq{gdl
dsmqqu\gmumﬁ |$ < ﬁﬁaﬁrgﬁ[ll S

The word ‘annena’ in above verses is the pronoun for this —

1. non-restraint
2. minorvow
3. salvation
4. restraint
1) 1
(2) 2
(3) 3
) 4

S Tl H W ed -3{UUIU] SHBT HAH G -

1. 3HTg

2. AU
3. Higl
4. IgH
1) 1
) 2
(3) 3
4) 4
1[Option ID=12369]
2[Option ID=12370]

3[Option ID=12371]
4[Option ID=12372]

Sl. No.94
QBID:191094




geham dhanam kalattadi rayasuham nadullaho.

ikko hi dullaho dhammo bohim mokkhassa dayago.

so dhammo duviho gevo sayaro anayvare va.
anuvvada-mahavvado jutto kamena bhasido.

catta samjame hi ASaMjamain savvam pavattanam

egena dukkhasamsaro annena sagga-mokkho ya.

egendiya jive ya ma tucche manna sajjana
appa savvesu jivesu guni sada. (4)
atitti-janagam kamam tavakarinam dukkhadam

deha-kadatthenuvvannam kimci ko sevade buho
g 4Ui adiie, IIYg Ul gevig! |
Sah] e goetel UFHT, SIfg AR STl 1)
Il 4FAT gfdg! Uil IRl 3UERI A
SU[dE-Hgodal, Sl HHOT HIRET Il 21
Il 3o Hod, HorH fg gaguil

TI0] GRAHHRI, U0 GEL-HIGE T || 3
Wifey Siid g, AT g=5 HUUl I |

3 oy Sy, ﬁm@ﬁqﬂﬁﬂamn

-STURT 1A, SICCAIRY gq{gdl
¢5¢¢@UéquU|‘ |$ < ﬁﬁaﬁ{@ﬁll S

(1)

It is said in the above verses — Do not consider the one sensed-living beings to inferior because

. they safeguard our climate.

. every living being has soul with merit.
. they observe minorvows

. they are much knowledgeable

1) 1

(2) 2

3) 3

(4) 4

L I

I

SUeR MUI3H H BT TR § - Uh-3i5-oildl Bl q=o - HI-. il -

1. d qgiaRu] 1 &1 Hd B

2. gt Sital # 1ol 31T gt B |
3. d S{ULEdl BT YTeld R g |

4. d 3y FAH G|

(1)1
) 2
3) 3
(4) 4

1[Option ID=12373]
2[Option ID=12374]
3[Option ID=12375]
4[Option ID=12376]

Sl. No.95
QBID:191095




geham dhanam kalattadi rayasuham nadullaho.

ikko hi dullaho dhammo bohim mokkhassa dayago.

so dhammo duviho gevo sayaro anayvare va.
anuvvada-mahavvado jutto kamena bhasido.

catta samjame hi ASaMjamain savvam pavattanam

egena dukkhasamsaro annena sagga-mokkho ya.

egendiya jive ya ma tucche manna sajjana
appa savvesu jivesu guni sada. (4)
atitti-janagam kamam tavakarinam dukkhadam

deha-kadatthenuvvannam kimci ko sevade buho
g 4Ui adiie, IIYg Ul gevig! |
Sah] e goetel UFHT, SIfg AR STl 1)
Il 4FAT gfdg! Uil IRl 3UERI A
SU[dE-Hgodal, Sl HHOT HIRET Il 21
Il 3o Hod, HorH fg gaguil

TI0] GRAHHRI, U0 GEL-HIGE T || 3
Wifey Siid g, AT g=5 HUUl I |

3 oy Sy, ﬁm@ﬁqﬂﬁﬂamn

-STURT 1A, SICCAIRY gq{gdl
¢5¢¢@UéquU|‘ |$ < ﬁﬁaﬁ{@ﬁll S

It is said in the last verse that —

. erotic desire leads to dissatisfaction

. all the sinful acts must be abandoned
. religion is of two kinds

. religion give impetus to knowledge
1) 1

(2) 2

3) 3

) 4

L D

I

(1)

Suert mmredt &  Sifaw gradim | wer g f

1. BT AN Ual & ardl gl
2. gt urgsHl B SIS 1 91T
3. YH QI UPR Bl g

4, YH I B S I g

(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=12377]
2[Option ID=12378]
3[Option ID=12379]
4[Option ID=12380]

Sl. No.96
QBID:191096




Read the given passage and answer the questions that follow :

Bhaddab&huna saha-gacchanto Govaddhan&irio Sasangham tassa giham Patto.
Munisangham somasamma Parivanena saha vinayovayaram kicea pucchadi—

Aho mahappa! Kena karanena amhanam duvaram Pavittam kidam tumhehim ? Ayarao
Kahedi — Tava puttena amhe ettha 51_11}*5 Aham imam satthani sikkhedum icchame.
Assa kallanattham so sikhhidavvé. Jai tumam icchasi to aham imassa sattha Sikkham

dahami. Kinei citiTina tassa madu -piduhi sammadi padatta.

Tanayantam Bhaddabahu sarakkhane ghettina ayaradibarasa Anga paripunno,
mahamahimo, Chatisa guna sampanno bhavvajivanam hidakaro, Muni nayago
Govaddhanariyo tatto sasangho niggado. Vavaharapad@ viyakkhanabuddhi sampanno. So
kumaro Bhaddabaha ayariya- pasadena thovakalena -sattha-purana siddhantakavva-ayara-
sathesuparangado jade. saccam atthi, settha guruno pasadena vineya siggham ceciya

sattha-parangada honti.

HE TGO Fe-TT=sdl Mgung Rl J89 0¥y {18 Il | Hior ccgur a1 yRkauioy 98 fauiagr fh=n
I3 (G- 3151 AT U BRUIV 37101 gaR Yfd< fobd Jrele 2 MR deld-dd Guivr 3iig T 3Muiian| 3g
2H FTI01 RHRd S 3=911H | 3Ry Deailvied 1 RfRaeadl | 913 gH Twoiidl ofg 3H- JIRiRd areli#| i
fefergur ae g & gwAdl Te
U HedTg XA 90T SRS SRY-3{T1 Ry, AgTAfGHI. Sig-101 00T, Hodoilarof fgaeyl,
oo Ma-onia ol 994l OrTel | 9agRUG [gRIUdfg-HUuul I HHRI Hedlg HARI-gHul
YA UT- A -GRIVI- G- od-HAR-GY URITE Sila] | Fed 3 g0l greur fquran g (=) gel-
-ty

As per the above passage the name of Bhadrabahu father is —

1. Govardhanacarya
2. Gunasena
3. Somasarma
4. AgniSarma
)1
(2) 2
(3) 3
(4) 4

SUeRT TR b HTHR Hedlg & U HIAH G -

1. MagaEr
2. ORI
3. g9
4. St
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12381]
2[Option ID=12382]

3[Option ID=12383]
4[Option ID=12384]

Sl. No.97
QBID:191097




Read the given passage and answer the questions that follow :

Bhaddab&huna saha-gacchanto Govaddhan&irio Sasangham tassa giham Patto.
Munisangham somasamma Parivanena saha vinayovayaram kicea pucchadi—

Aho mahappa! Kena karanena amhanam duvaram Pavittam kidam tumhehim ? Ayarao
Kahedi — Tava puttena amhe ettha 51_11}*5 Aham imam satthani sikkhedum icchame.
Assa kallanattham so sikhhidavvé. Jai tumam icchasi to aham imassa sattha Sikkham

dahami. Kinei citiTina tassa madu -piduhi sammadi padatta.

Tanayantam Bhaddabahu sarakkhane ghettina ayaradibarasa Anga paripunno,
mahamahimo, Chatisa guna sampanno bhavvajivanam hidakaro, Muni nayago
Govaddhanariyo tatto sasangho niggado. Vavaharapad@ viyakkhanabuddhi sampanno. So
kumaro Bhaddabaha ayariya- pasadena thovakalena -sattha-purana siddhantakavva-ayara-
sathesuparangado jade. saccam atthi, settha guruno pasadena vineya siggham ceciya

sattha-parangada honti.

HE TGO Fe-TT=sdl Mgung Rl J89 0¥y {18 Il | Hior ccgur a1 yRkauioy 98 fauiagr fh=n
I3 (G- 3151 AT U BRUIV 37101 gaR Yfd< fobd Jrele 2 MR deld-dd Guivr 3iig T 3Muiian| 3g
2H FTI01 RHRd S 3=911H | 3Ry Deailvied 1 RfRaeadl | 913 gH Twoiidl ofg 3H- JIRiRd areli#| i
fefergur ae g & gwAdl Te
U HedTg XA 90T SRS SRY-3{T1 Ry, AgTAfGHI. Sig-101 00T, Hodoilarof fgaeyl,
oo Ma-onia ol 994l OrTel | 9agRUG [gRIUdfg-HUuul I HHRI Hedlg HARI-gHul
YA UT- A -GRIVI- G- od-HAR-GY URITE Sila] | Fed 3 g0l greur fquran g (=) gel-
-ty

This person had come the to home of Somasarma

. Sanghadasagani

. Jinabhadragani

. Hemacandracarya
. Goverdhanacarya
)1

(2) 2

(3) 3

(4) 4

AT & TR 3PT SFTHA g ol -

L D

B

1[Option ID=12385]
2[Option ID=12386]
3[Option ID=12387]
4[Option ID=12388]

Sl. No.98
QBID:191098




Read the given passage and answer the questions that follow :

Bhaddab&huna saha-gacchanto Govaddhan&irio Sasangham tassa giham Patto.
Munisangham somasamma Parivanena saha vinayovayaram kicea pucchadi—

Aho mahappa! Kena karanena amhanam duvaram Pavittam kidam tumhehim ? Ayarao
Kahedi — Tava puttena amhe ettha 51_11}*5 Aham imam satthani sikkhedum icchame.
Assa kallanattham so sikhhidavvé. Jai tumam icchasi to aham imassa sattha Sikkham

dahami. Kinei citiTina tassa madu -piduhi sammadi padatta.

Tanayantam Bhaddabahu sarakkhane ghettina ayaradibarasa Anga paripunno,
mahamahimo, Chatisa guna sampanno bhavvajivanam hidakaro, Muni nayago
Govaddhanariyo tatto sasangho niggado. Vavaharapad@ viyakkhanabuddhi sampanno. So
kumaro Bhaddabaha ayariya- pasadena thovakalena -sattha-purana siddhantakavva-ayara-
sathesuparangado jade. saccam atthi, settha guruno pasadena vineya siggham ceciya

sattha-parangada honti.

HE TGO Fe-TT=sdl Mgung Rl J89 0¥y {18 Il | Hior ccgur a1 yRkauioy 98 fauiagr fh=n
I3 (G- 3151 AT U BRUIV 37101 gaR Yfd< fobd Jrele 2 MR deld-dd Guivr 3iig T 3Muiian| 3g
2H FTI01 RHRd S 3=911H | 3Ry Deailvied 1 RfRaeadl | 913 gH Twoiidl ofg 3H- JIRiRd areli#| i
fefergur ae g & gwAdl Te
U HedTg XA 90T SRS SRY-3{T1 Ry, AgTAfGHI. Sig-101 00T, Hodoilarof fgaeyl,
oo Ma-onia ol 994l OrTel | 9agRUG [gRIUdfg-HUuul I HHRI Hedlg HARI-gHul
YA UT- A -GRIVI- G- od-HAR-GY URITE Sila] | Fed 3 g0l greur fquran g (=) gel-
-ty

This is the form of the word ghettina

absolutive participle
. present participle
adverb

. past tense

)1

() 2

(3) 3

(4) 4

AU UG DI EU G -

1. gre-Had
2. GdHM-PE
3%%@@@

1) 1
) 2
(3) 3
(4) 4

L D =

B

1[Option ID=12389]
2[Option ID=12390]
3[Option ID=12391]
4[Option ID=12392]

Sl. No.99
QBID:191099




Read the given passage and answer the questions that follow :

Bhaddab&huna saha-gacchanto Govaddhan&irio Sasangham tassa giham Patto.
Munisangham somasamma Parivanena saha vinayovayaram kicea pucchadi—

Aho mahappa! Kena karanena amhanam duvaram Pavittam kidam tumhehim ? Ayarao
Kahedi — Tava puttena amhe ettha 51_11}*5 Aham imam satthani sikkhedum icchame.
Assa kallanattham so sikhhidavvé. Jai tumam icchasi to aham imassa sattha Sikkham

dahami. Kinei citiTina tassa madu -piduhi sammadi padatta.

Tanayantam Bhaddabahu sarakkhane ghettina ayaradibarasa Anga paripunno,
mahamahimo, Chatisa guna sampanno bhavvajivanam hidakaro, Muni nayago
Govaddhanariyo tatto sasangho niggado. Vavaharapad@ viyakkhanabuddhi sampanno. So
kumaro Bhaddabaha ayariya- pasadena thovakalena -sattha-purana siddhantakavva-ayara-
sathesuparangado jade. saccam atthi, settha guruno pasadena vineya siggham ceciya

sattha-parangada honti.

HE TGO Fe-TT=sdl Mgung Rl J89 0¥y {18 Il | Hior ccgur a1 yRkauioy 98 fauiagr fh=n
I3 (G- 3151 AT U BRUIV 37101 gaR Yfd< fobd Jrele 2 MR deld-dd Guivr 3iig T 3Muiian| 3g
2H FTI01 RHRd S 3=011H | 3Ry Deailvied Il RifRaead! | 93 gH Tiidl ofg 3H-Y GIRiRd aregli#| i
fefergur ae g & gwAdl Te
U HedTg TXaRaU! 90T RIS SRY-3{71 RYU0T, HgTAfGHT. STig-T01 00T, Hodoilarof fgaey,
oo Ma-onia ol 994l OrTel | 9agRUG [gRIUdfg-HUuul I HHRI Hedlg HARI-gHul
YA UT- A -GRIVI- G- od-HAR-GY URITE Sila] | Fed 3 g0l greur fquran g (=) gel-
-ty

The word “puttena’ is in this case

. accusative
instrumental
. ablative

. locative

1) 1

(2) 2

(3) 3

4) 4

"TU" s 39 faufdd d1 g

1. feciran

EEE!
4, gl

(1) 1

(2) 2

3) 3

4) 4

L D

B

b2

1[Option ID=12393]
2[Option ID=12394]
3[Option ID=12395]
4[Option ID=12396]

Sl. No.100
QBID:191100




Read the given passage and answer the questions that follow :

Bhaddab&huna saha-gacchanto Govaddhan&irio Sasangham tassa giham Patto.
Munisangham somasamma Parivanena saha vinayovayaram kicea pucchadi—

Aho mahappa! Kena karanena amhanam duvaram Pavittam kidam tumhehim ? Ayarao
Kahedi — Tava puttena amhe ettha 51_11}*5 Aham imam satthani sikkhedum icchame.
Assa kallanattham so sikhhidavvé. Jai tumam icchasi to aham imassa sattha Sikkham

dahami. Kinei citiTina tassa madu -piduhi sammadi padatta.

Tanayantam Bhaddabahu sarakkhane ghettina ayaradibarasa Anga paripunno,
mahamahimo, Chatisa guna sampanno bhavvajivanam hidakaro, Muni nayago
Govaddhanariyo tatto sasangho niggado. Vavaharapad@ viyakkhanabuddhi sampanno. So
kumaro Bhaddabaha ayariya- pasadena thovakalena -sattha-purana siddhantakavva-ayara-
sathesuparangado jade. saccam atthi, settha guruno pasadena vineya siggham ceciya

sattha-parangada honti.

HE TGO Fe-TT=sdl Mgung Rl J89 0¥y {18 Il | Hior ccgur a1 yRkauioy 98 fauiagr fh=n
I3 (G- 3151 AT U BRUIV 37101 gaR Yfd< fobd Jrele 2 MR deld-dd Guivr 3iig T 3Muiian| 3g
2H FTI01 RHRd S 3=011H | 3Ry Deailvied Il RifRaead! | 93 gH Tiidl ofg 3H-Y GIRiRd aregli#| i
fefergur ae g & gwAdl Te
U HedTg TXaRaU! 90T RIS SRY-3{71 RYU0T, HgTAfGHT. STig-T01 00T, Hodoilarof fgaey,
oo Ma-onia ol 994l OrTel | 9agRUG [gRIUdfg-HUuul I HHRI Hedlg HARI-gHul
YA UT- A -GRIVI- G- od-HAR-GY URITE Sila] | Fed 3 g0l greur fquran g (=) gel-
-ty

According to the passage this virtue is not availed in Goverdhanacarya —

1. benevolent for liberatable bein
2. attending the parents
3. versed of the canons
4. adorned with thirty six merits
)1
(2) 2
(3) 3
(4) 4

TR & STHR Mae-=r] # g U el © -

1. HI-Sial & [gdPR®
2. AU & dddb
3. IT-3MTH & D
4. BUYGN & YRD
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=12397]
2[Option ID=12398]
3[Option ID=12399]
4[Option ID=12400]

Sl. No.101
QBID:5201001




The following table shows (i) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (1) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

- 9, Distribution of | Proportion of Car Models Sold
”5' Sold Cars P Q R
A 14.30% T 7 4
B 16.20% 2 5 2
C 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 2 1
F 21.70% 2 5

3
e TIfeTenT & B8 TERI A-F T O101d BRI B TeT B (1) WA= (%) faawor 3R (i) 37 941 T3 SR 3 34
HISd P, Q 3R R &1 39T aX11A1 T § | 57 Wexl T 841 715, DRI 1 ol WA 90,000 T | AP &
Hih Sl P YR TR TY BT 3TR T |

TR ST TS BRI BT G (%) S TG HiS 1 o1
B Q R
A [1430% 7 7 4
B [16.20% 2 5 B
C [1840% 3 3 4
D |16.80% 4 3 B
E  [12.60% 2 2 1
F  [21.70% 3 2 5

What is the number of Model-Q cars sold in all cities together?

- 31255
- 31355
. 31455
. 31555
(1)1
(2) 2
3) 3
(4) 4

i 3Rl ® o e Aisd Q & a4l 5 BRI &1 TR |6 2

B B A

1. 31255
2.31355
3.31455
4. 31555
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=13201]
2[Option ID=13202]
3[Option ID=13203]
4[Option ID=13204]

Sl. No.102
QBID:5201002




The following table shows (i) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (1) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

- 9, Distribution of | Proportion of Car Models Sold
”5' Sold Cars P Q R
A 14.30% T 7 4
B 16.20% 2 5 2
C 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 2 1
F 21.70% 2 5

3
e TIfeTenT & B8 TERI A-F T O101d BRI B TeT B (1) WA= (%) faawor 3R (i) 37 941 T3 SR 3 34
HISd P, Q 3R R &1 39T aX11A1 T § | 57 Wexl T 841 715, DRI 1 ol WA 90,000 T | AP &
Hih Sl P YR TR TY BT 3TR T |

TR ST TS BRI BT G (%) S TG HiS 1 o1
B Q R
A [1430% 7 7 4
B [16.20% 2 5 B
C [1840% 3 3 4
D |16.80% 4 3 B
E  [12.60% 2 2 1
F  [21.70% 3 2 5

What is the difference between Model-P cars sold in city-D and city E 7

2184
2204
.2294
. 2244
(1)1
) 2
(3) 3
(4) 4

YEI D IR IR E M it poRI & S &7 AR e 2

e S

2184
2204
.2204
.2244
(1) 1
(2) 2
(3) 3
(4) 4

Wb =

1[Option ID=13205]
2[Option ID=13206]
3[Option ID=13207]
4[Option ID=13208]

Sl. No.103
QBID:5201003




The following table shows (i) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (1) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

- 9, Distribution of | Proportion of Car Models Sold
”5' Sold Cars P Q R
A 14.30% T 7 4
B 16.20% 2 5 2
C 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 2 1
F 21.70% 2 5

3
e TIfeTenT & B8 TERI A-F T O101d BRI B TeT B (1) WA= (%) faawor 3R (i) 37 941 T3 SR 3 34
HISd P, Q 3R R &1 39T aX11A1 T § | 57 Wexl T 841 715, DRI 1 ol WA 90,000 T | AP &
Hih Sl P YR TR TY BT 3TR T |

el T ATsal Bl U
D Q R

7

TG (o TS BRI BT faaiu (%)

14.30%
16.20%
18.40%
16.80%
12.60%
21.70%

b || s | e | B2 || 1
o] twa| ta] n

Sl =1
Th|[ = to | = 2| =

[

2

The number of Model-P cars sold in City D is approximately % of the number of Model-R cars sold in
City A

. 145
. 185
.83

235

=k

(1)1
) 2
3) 3
(4) 4

eX D 1 foas! Aisd p &R & T eX A T f@! H1Sd R SRI &1 e &1 ayT fara- ufasid (%) 8 2

1[Option ID=13209]
2[Option ID=13210]
3[Option ID=13211]
4[Option ID=13212]

Sl. No.104
QBID:5201004




The following table shows (i) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (1) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

- 9, Distribution of | Proportion of Car Models Sold
”5' Sold Cars P Q R
A 14.30% T 7 4
B 16.20% 2 5 2
C 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 2 1
F 21.70% 2 5

3
e TIfeTenT & B8 TERI A-F T O101d BRI B TeT B (1) WA= (%) faawor 3R (i) 37 941 T3 SR 3 34
HISd P, Q 3R R &1 39T aX11A1 T § | 57 Wexl T 841 715, DRI 1 ol WA 90,000 T | AP &
Hih Sl P YR TR TY BT 3TR T |

el T ATsal Bl U
D Q R

7

TG (o TS BRI BT faaiu (%)

14.30%
16.20%
18.40%
16.80%
12.60%
21.70%

b || s | e | B2 || 1

Sl =1
T [P [ | oo ||
Th|[ = to | = 2| =

[

Number of cars sold in City F is approximately % more than the number of cars sold in City B

13
34
21
275

e o

(1)1
) 2
(3) 3
(4) 4

e F 1 (901 PRI & GO WER B H G T8 BRI BT U0 T e =i (%) St § 2

13
34
21
275

FER PR

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13213]
2[Option ID=13214]

3[Option ID=13215]
4[Option ID=13216]

SlI. No.105
QBID:5201005




The following table shows (i) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (1) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

- 9, Distribution of | Proportion of Car Models Sold
”5' Sold Cars P Q R
A 14.30% T 7 4
B 16.20% 2 5 2
C 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 2 1
F 21.70% 2 5

3
e TIfeTenT & B8 TERI A-F T O101d BRI B TeT B (1) WA= (%) faawor 3R (i) 37 941 T3 SR 3 34
HIS P, Q 3R R &1 S9Td a=1d1 T § | 7 Wexl & 891 715 DRI 1 Pl W=7 90,000 T | AT &
sl & YR TR TY BT 3TR T |

o e a Ry [T o o
B Q R
A 14.30% T 7 4
B 16.20% 2 5 2
2 18.40% 3 3 4
D 16.80% 4 5 2
E 12.60% 2 2 1
F 21.70% 3 2 5

What is the ratio of the number of cars sold in City C to the number of Model-Q cars sold in City D?

19:5
27:8
237
33:10

el

1)1
(2) 2
(3) 3
(4) 4

X ¢ B I T8 BRI B TW SR eI D T Alsd Q Bl (90! SRI &1 WA & a9 B ST :§ 2

19:5
27:8
2587
33:10

FER PR

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13217]
2[Option ID=13218]

3[Option ID=13219]
4[Option ID=13220]

Sl. No.106
QBID:5201006

Which of the following techniques is recommended for approaching and disciplining a student who may be
prone to explosive behaviour?

1. Move swiftly and get as close to the misbehaving student as possible.
2. Ensure that there are several witnesses to the confrontation.
3. Be respectful, brief but assertive.
4. Use a loud voice to establish power.
(1) 1
(2) 2
(3) 3
(4) 4




%@%ﬁgﬁgﬂ%?uqaﬁaﬁﬁ?mﬂuaﬁaﬁwﬁwnﬁmmﬁiﬁmﬁaﬁ@ﬁmmﬁm
DITRIT 2

1. TG TE U ISR B ardl faenei & o1 Tuya e g1 o |
2. U8 YFYd &R o I 811 & gug 3 H&h & |
3. GG, H&Y I IR Teargdd a1d o |
4. Ifed R B & [0 Sl 31ars] o1 WaiT &1 |
(1)1
(2) 2
3) 3
(4) 4

1[Option ID=13221]
2[Option ID=13222]
3[Option ID=13223]
4[Option ID=13224]

Sl. No.107
QBID:5201007

Ishita had been practicing her multiplication tables for weeks before her yearly test. She knew all her facts
completely. This type of knowledge that Ishita now has attained does not require attention and concentration.
This process is known as which one of the following ?

1. Flashbulb memory
2. Schema
3. Automaticity
4. Procedural memory
(1) 1
(2) 2
(3) 3
(4) 4

SR st aTftie oien @ Ued TR 4 UGTS! 1 S o Yot AT | 98 IR i 1 U<l ave d ol o
| SR 3@ forg YR &1 319 UK a1 € 398 &0 o7 3R &f3d &3 ©f awudar el sidi g 159
Ui ® A H I P U O I o g 2

1. BlY-gc8 WA
2. TBH
3. WEAUIPR]
4. UibareT® Hid
(1) 1
@ 2

(3) 3
(4) 4

1[Option ID=13225]
2[Option ID=13226]
3[Option ID=13227]
4[Option ID=13228]

Sl. No.108
QBID:5201008

Match List I with List IT :

LIST I (MOOCs Four Quadrant LIST II (Component)
approach)
A |Quadrant - I I. |e-content
B.  |Quadrant - IT II.  |Self-aszsessment
C. |Quadrant - ITI III. |e-tutorial
D |Quadrant - [V IV.  |Web Resources

Choose the correct answer from the options given below :

1. A-IL B-IV, C-I, D-II
2. A-IV, B-I, C-III, D-II
3. A-III, B-1, C-IV, D-II
4. A-IV, B-II, C-III, D-I

(11

(2) 2

(3) 3

(4) 4




it 1 31 Yl 11 ° e Sifeg

H 1 (9 & IR UTS SHTHTH) e 11 (UTH)
A |uEI L [g-3iddsg
B [UIGII I [E-JcaiPpd
C. [grg I L [3-geiid
D [UEIVv vV |59 gareE
Fafafad [deedl O 9 98l SR @1 994 B -
1. A-IIL, B-1V, C-I, D-II
2. A-IV, B-I, C-III, D-1I
3. A-II1, B-I, C-1V, D-TI
4. A-IV, B-II, C-II1, D-I
11
(2) 2
(3) 3
4) 4

1[Option ID=13229]
2[Option ID=13230]
3[Option ID=13231]
4[Option ID=13232]

SI. No.109
QBID:5201009

Match List I with List IT

LIST I (Behavioural Models)  [LIST II (Developers / Redevelopers)
A |Mastery learning I |Carl SmithMary Smith
B G I Benjamin Bloom/James
Black
C. |Social learning III. |B.F. Skinner
D Programmed schedule (task v \Albert Bandura/Carl
performance reinforcement) * |Thoresen Wes Becker

Choose the correct answer from the options given below:

1. A-IV, B-I, C-II, D-III
2. AL B, C-IV, D-III
3. A-II, B-IV, C-1, D-III
4. A-IV, B-I, C-III, D-II

1) 1

(2) 2

(3) 3

(@) 4

il 1 31 Yl 11 § e e
T 1 (FEERTHS AIseq) !ﬁﬁurﬁarmaﬁﬁgﬁﬁﬁmmh
A [wdiorE sftrm Tl Ry Ry
B. [sFEUw L[S sA /e sl
C. [T St o (& T, R
b [P0 DS ST @/ | [, [ SR ARSI
© [FsaIed gARIG BRI T [EER

Frafaiad faeedl o 9 9l 3w @1 994 Bifog -

1. A-IV, B-I, C-II, D-III
2. AL, B-I, C-IV, D-III
A-IL, B-IV. C-1, D-TII
A-IV, BI, C-II1, D-1I

i

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=13233]
2[Option ID=13234]

3[Option ID=13235]
4[Option ID=13236]

SlI. No.110
QBID:5201010




Given below are two statements :

Statement I : Sensory memory is that memory which helps an individual to recall something immediately
after having perceived it.

Statement IT : Semantic memory is that memory which helps in storing as well as retrieving a collection of
relationships between events or association of ideas.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement IT are correct.

. Both Statement I and Statement II are incorrect.

. Statement I is correct but Statement II is incorrect,
. Statement I is incorrect but Statement II is correct.
(1) 1

) 2

3) 3

(4) 4

g Fua fgm aw &

L2 b2

FHYF 1 T8 TG g% TG & S e cafts @ 15 e gud & doee 3HE g TEROT a1 # Ferar
CrGil

FU9 1131 61 wfd a5 wafa § = oftgeansd sar RBeR & wap & &9 & 99 & o5 & @R
QWITE & el @l © |

ST HUA b IHTelled &, A QT 70 et & § Ha8 3UGD 3qL I 9I= DI feis:

1. ®y= 13w neE gf §)

[

. Hya 13K It eg E
3.3 199 & aftha HUe o )

4. U 17000 &, ofeheT T [ITE B
11
(2) 2
(3) 3
4) 4
1[Option ID=13237]
2[Option ID=13238]

3[Option ID=13239]
4[Option ID=13240]

Sl. No.111
QBID:5201011

Given below are two statements :

Statement I : If we accept a hypothesis when it should be rejected, we say type [ error has been made.
Statement II : If we reject a hypothesis when it should be accepted, we say type II error has been made.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement IT is true,

(1)1

) 2

(3) 3

(4) 4




g Fua fgm aw &

FYT 1 Tfg 7 T VY WU @ TEeR #d § e 3Edeg T =T ity O &9 9% #1999
T 5 sudt Tsu 1 g T o ¥

FYT 11:T7E &7 T I UEeTaT #Y IRAIGR Td & Sdih 5§ TAR BRIl e IRY, 99 &6 I8 A
gha ¢ 5 gud sy 0 g & = E

U HA b Hleller A, A9 fgw 9w Fepedl # §HH SUYH IR B T HIfAT:
1. &y 13K naE | B
2.9 131R [ gET 3T ¥l

3. FU 19T € AfoheT HU 113/@cT B

4. U 1370 B, oifehed HUT 1L TT Bl
(1) 1
2) 2
3) 3
(4) 4
1[Option ID=13241]
2[Option ID=13242]

3[Option ID=13243]
4[Option ID=13244]

Sl. No.112
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Which of the following softwares are used for checking plagiarism?

Turnitin
e-view
Scopus
Urkund
Quetext

monwe

Choose the most appropriate answer from the options given below :

1.A B and D only
2.B.CandE only
3.A.DandE only
4, C, D and E only

1)1

(2) 2

(3) 3

(4) 4

Tifefd® IRl & 9ia o= & e 99 5 9 {534 aroeda?l &1 v o e g 2

A TR

B. 391
C. WIug

D. RPS
E. $ide
4 feu g fdwedl § ¥ 9ed Sugad SR &1 99 DI

1.$ad A, B 3R D

1[Option ID=13245]
2[Option ID=13246]




3[Option ID=13247]
4[Option ID=13248]

Sl. No.113
QBID:5201013

Which of the following methods are used to measure reliability in research?

Chain-referral sampling
Test-retest

Split-half

. Inter-rater

. Judgemental test

moowe

Choose the correct answer from the options given below :

A, B and C only
A, D and C only
.B.Cand D only
.C,D and E only
(1) 1
(2) 2
3) 3
(4) 4

e H fFya-aar ot Ao & fore e § 9 o ot & v i emar g 2

A. yaqr gafiid wla=g
B. WE-G: 9"

c. fayaars

D. diafuR® Eeiex)
E. g Fvla &g

=1 4T U fded] & T gl IR &1 98- Bl

1.PAd A, B, C
2. FaAA, D, C
3.%dd B, C.D
4.%adC,D.E

1) 1

(2) 2

3) 3

(4) 4

e L b

1[Option ID=13249]
2[Option ID=13250]
3[Option ID=13251]
4[Option ID=13252]

Sl. No.114
QBID:5201014

Given below are two statements :

Statement I : t-tests are appropriate only when the dependent variables being measured are continuous.
Statement IT : Chi-square statistic allows us to test hypotheses using both continuous and ordinal data.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement IT is false.
4. Statement I is false but Statement II is true,

(1)1

(2) 2

(3) 3

(4) 4




THg sy iU E:
DYF : t-C DA qHI SIYH Bl & SIe HIIUd Y =R Fdd 8 |

DY : Pls WHARR TS| 8H Tad R HHYID bS] &l &1 YON B FFHed B ofid B
el

IURIGd HYUA & Tald 1, A (U T fabeul § I Tel 3R &1 90+ BIfolt:
1. PYT1 3R I & T B
2. BYA1 AR I &I ST B

3. YT 1 I 8. Afp YT 11 T 8

4. P 3T R, AT P 1 TIRI
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=13253]
2[Option ID=13254]

3[Option ID=13255]
4[Option ID=13256]

Sl. No.115

QBID:5201015
Given below are two statements
Statement I : UGC-CARE list includes all the scopus, web of science, and MLA indexed journals.
Statement IT : Open Access Journals are predatory journals.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement IT are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false.
. Statement I 1s false but Statement II is true.

1) 1
(2) 2
(3) 3
4) 4

e el sy Ry
BUF I : TOIT-TURE T H Tl 109, 39 ST WSy SiR THUOT gEies oHd MEAela © |
YA : o STH THd e oA 8l g |
IR BYF & e T, $19 Bu T feed) § O 98l 3R &1 99 i
1L FAIARIEAI T |
L HY1 AR 1 ST 3§ |

3. PYT 1 I B, A DY 11 3T B

b =

e L

[

4. BYT1 AT 8, Afh HYT 11 T B
(1) 1
) 2
(3) 3
4) 4
1[Option ID=13257]
2[Option ID=13258]

3[Option ID=13259]
4[Option ID=13260]

Sl. No.116
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The people's preconceptions and frames of reference, and spreading one's own limited attitudes towards issues

and images result in:

. Stable identity

. Social harmony

. Positive public opinion
. Stereotypes

1 1

(2) 2

(3) 3

(4) 4

1T 1 gayRuSi, Haa! & ARl SR ggi @ Biadl & Ui 37 u- Hifta gkl & J8R @1
frafafaa & 9 s oo grar g

1. RR yggH
2. g TIeTs,
3. PRI o= Hd
4.3 (KIRAEEE)
(1) 1
2) 2
3) 3
(4) 4

B R

1[Option ID=13261]
2[Option ID=13262]
3[Option ID=13263]
4[Option ID=13264]

Sl. No.117
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In mass communication the audience 1s:

. Identifiable

. Relatively small
. Heterogeneous

. Homogeneous
1)1

2) 2

(3) 3

(4) 4

O TER | diar Fefafea d g g2

TR
. {U&THd B J=T |
faumsdr
iepa}

i T b o

da L bo =

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=13265]
2[Option ID=13266]

3[Option ID=13267]
4[Option ID=13268]
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The meanings of visual images depend much on:

Individual perception

Social perception

Political links

Economic benefits
Representational Connections.

mo0we

Choose the correct answer from the options given below:

A, B and C only
.B.Cand D only
.C.D and E only
A, B and E only
1 1
(2) 2
3) 3
(4) 4

Ty G F el FE T I T R e ke g

A. dufdas Ty
B. HHIG® qlY
C. IoHIf® Juds (fF®)
D. 3fife wgfdemg
E. Wiiaie day
i fau Tt f[dded| § 9§ 95! IR @1 99 Hifoie:

1.PAAA, B, C

b

1[Option ID=13269]
2[Option ID=13270]
3[Option ID=13271]
4[Option ID=13272]
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Given below are two statements :

Statement I : The right to communicate can prompt the emergence of negative liberty though its positive
impact cannot be overlooked.

Statement IT : The hidden impact of free market place has diluted the concept of free speech to suit the
corporate ends.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II is true.

1y 1

) 2

(3) 3

(4) 4




TR e ume:

HYA 1 - GUNU BT HUSR THRIES WaFdl & 30 D1 U TR JadT & it 595 THRIES THG DI
AT Tl [T ST IHaT § |

DYF 11 : Hod STSIR R & Yo YHId 5 PRURE U&dl & &Y dip WIa=d DI AR Pl §UDT B
g |
TWRIdd PYA & 3fTeie , H= AU 7 fawedi & 9 J61 TR &1 997 Fifo:

1. Y1 AR 11 SH A gl

2. FYTI AR 11 SFT 3T S |

FUTI I, AP PYUT I T |
HYT I IGI L, AT HYT N TR |
1) 1

(2 2

(3) 3

(4) 4

e L

1[Option ID=13273]
2[Option ID=13274]
3[Option ID=13275]
4[Option ID=13276]
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Given below are two statements :

Statement I : The capacity of words need not have any connection with truth.

Statement II : There iz a human tendency to coneeal facts and suppress the truth while communicating.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but Statement II is incorrect.
4. Statement I is incorrect but Statement II is correct.
(1)1
(2) 2
3) 3
(4) 4

19 31 B ST U §: TP BT (Assertion A) & FU H [AEd © O GURT 39D PRI (Reason R) P
EREE

YT A : TE] BI &I DT I & 1Y Pl Y8 51 HITD 81 © |
PRI R : WY Hd GG 72 B! UM R I H1 GaH1 TG HqRi g |
SIRIGd DY P 3Melid 1, Fid U 70 fdwedi ¥ 3 Fa¥ IUgad SR &1 99 Hifv |

A 3RREA T8I § IR R, AP TgI TS |

LARRIFITEI €. APTR AP TS TR € |
LATSI e AT R TR AR B |
4 AT TSI S APIR TSR

1

) 2

3) 3

(@) 4

o —

1[Option ID=13277]
2[Option ID=13278]
3[Option ID=13279]
4[Option ID=13280]
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Find out the third common term between the two given Arithmetic Progression (AP) series given as
3,7, 1L, 15, and 1, 6, 11, 16,

31
43
51
47

L

&

(1) 1
) 2

3) 3

4) 4

fgifed & =u I g &t it TR goft (udh & Te IR I UE & 31d Sifol
37 Ad5

IR

1,6,11,16.........

1.31
2.43
51
47

=

(1)1
(2) 2
3) 3
(4) 4
1[Option ID=13281]
2[Option ID=13282]

3[Option ID=13283]
4[Option ID=13284]

Sl. No.122
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A person can do a piece of work in 18 days. After working for 12 days, the person leaves and another person
joins and completes the remaining work in 8 days. In how many days this 2nd person can complete the whole

job?

20
24
22

18

b2 -

PR E)

1) 1
(2) 2

3) 3

) 4

% oafad U @ @1 18 oAl f s gwpar § | 12 &A1 9@ & & & UuTd a8 oufdd &1 &1 8IS odl §
IR TIRT AT BT BT BT URY FAT & a1 Y B Bl 8 a1 F = a1 § | T8 G0-1 oAfek] 39 IR
Wﬁﬁmﬁﬁmﬁwmw%?

20
24
22

18

o

FER

1) 1
(2) 2
(3) 3
4) 4
1[Option ID=13285]
2[Option ID=13286]

3[Option ID=13287]
4[Option ID=13288]

Sl. No.123
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The average salary of 25 workers in an office is Rs. 6,000 per month, If the salary of the manager is added, the
average becomes Rs. 6,200. What is the annual salary of the manager?

73,200

1.34.400
1.58.600
1,03,200

da e b




1) 1
(2) 2
(3) 3
(4) 4

forh Braterg § ek 25 it &1 319d 39 6000 YA WAHTE § | T ST yeys® &1 aa i &S
e ST © 1 U8 31 6200 TU0 B ST © | UEU® &1 alfie da- [d-T g 2

73,200
. 1.34,400
. 1,58.600
. 1,03,200
1) 1
(2) 2
3) 3
(4) 4

Fl N R

1[Option ID=13289]
2[Option ID=13290]
3[Option ID=13291]
4[Option ID=13292]

Sl. No.124
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In what time a sum of money will double itself at the rate of 8% per annum simple interest?

1. 10.5 years
2.12.5 years
3. 9.5 years
4. 11.5 years

1) 1

(2) 2

(3) 3

(4) 4

D5 o MR 8% Uiday YR &A1 I &R Y foba 999 T 71 81 Sl 2

10539
12598
9.5y
115 a9

1)1
(2) 2
(3) 3
(4) 4

da L b2 =

1[Option ID=13293]
2[Option ID=13294]
3[Option ID=13295]
4[Option ID=13296]

Sl. No.125
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A shopkeeper sold two articles at Rs. 12,000 each. He sold one article at a profit of 20% and the other one ata
logs of 20%. What is the net gain or loss to the shop keeper?

1. A loss of Rs. 1000
2. A gain of Rs. 1000
3. Aloss of Rs. 3,000
4, Aloss of Rs. 1,500

1) 1

2) 2

(3) 3

(4) 4

Tt gpTaR- &l a3 H U U DI 12,000 TUT H &1 | I UD o] DI 20% P o1H U &1 TG G
T B 20% 1 G- R &1 | THHFGR Bl Sl A1y a1 g1+ fha-i g 2

. 1000 39U &1 81
. 1000 9T HT ATH
. 3000 3T BT BIH
. 1500 39U &1 g1

1) 1

B R I




(2) 2
3) 3
(4) 4
1[Option ID=13297]
2[Option ID=13298]

3[Option ID=13299]
4[Option ID=13300]
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Which informal fallacy is committed in the following argument - "Scientists have been trying for centuries to
disprove the claims of astrology, and none of them has ever succeeded. Therefore, we must conclude that

. = "oy
astrology's claims are true” 7

. Slippery slope

. Hasty Generalization

. Aurgumentum ad Ignorantian (appeal to ignorance)

. False Cause

1) 1

2) 2

3) 3

(4) 4

foffEa gfda & o1 I sFeRe ab-3 § - Ifedt 3 e Sy & a1dl ot Wied 337 &1 v
mﬁ_g%% IR 3H 15 ol Tt Twd T8l g1 | 3fa: 5 sy FHapTa 91y far wifay & g
Ja g7

L

1. Thaeged gar (Rl @i
2. JfaIRI GRSl
3. IR Jied (3R BT SHTE)
4. TTHR

1) 1

2) 2

3) 3

(4) 4

1[Option ID=13301]
2[Option ID=13302]
3[Option ID=13303]
4[Option ID=13304]
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Which of the following propositions can be directly inferred from the statement - "All mammals are four-
legged animals?

1. All animals are four-legged mammals.
2. No four-legged mammals are animals.
3. Some mammals are four-legged animals.
4, All four legged animals are mammals.
1)1
(2) 2
(3) 3
(4) 4

?Eﬁf@ﬁ nfaRe 4 O [y 39 Hu U Uad: SFA1Hd (a1 ol 9ad ¢ - |l TRt 9w oy

2 O] FOE TR
. Pl ot T YR U e R |
T WU FUET g |
2t IR U] YR E

1) 1
(2) 2
3) 3
4) 4

da L b2

1[Option ID=13305]
2[Option ID=13306]
3[Option ID=13307]
4[Option ID=13308]

Sl. No.128
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Which of the following statements is contrapositive to the following statement - "Some dogs are not
aggressive animals"?

. Some aggressive animals are not dogs.

. Some dogs are aggressive animals.

. Some non-dogs are aggressive animals.

. Some non-aggressive animals are not non-dogs.

P R

1) 1
(2) 2
(3) 3
(4) 4

Frafarad eyl 1 9 &1 91 FafiiEad oy & glauRaldd § - $© 3 SbHe U] 96l 6 2

1. B APHS Y P eI € |
2. S TU IMHHD U © |
3. P9 IR-Td SHIHS UL |
4. TF IR-STHMT Y IR-FI TS & |
1 1
(2) 2
(3) 3
(4) 4
1[Option ID=13309]
2[Option ID=13310]

3[Option ID=13311]
4[Option ID=13312]

Sl. No.129
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»

Which of the following statements are contradictory to each other?

A. All objects are perishable.

B. Some objects are not perishable.
C. Some objects are perishable.

D. No objects are perishable,

Choose the most appropriate answer from the options given below:;

.Aand D only
.B and D only
. C and D only
.Aand C only
(1) 1
(2) 2
(3) 3
(4) 4

fFeffEa I oH 9 oy RER M e 2

A T Tl ARE |

B. P9 U PRI € |
C.POTUFRE |
D. B W g AR T8 g |

19 fou U fGoedl § ©§ Yal SUgad SR &1 90 PIOT:

1.Had A 3R D
2. %ad B AR D
3.%ad C AR D
4. BT AR C

1 1

() 2

3) 3

(4) 4

da e b o

1[Option ID=13313]
2[Option ID=13314]
3[Option ID=13315]
4[Option ID=13316]

Sl. No.130
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To find my way about in a village I ask a resident for guidance. Which of the following instruments of
knowledge 1s used according to classical Indian school of Logic (Nyaya)

L. Perception (Pratyaksa)

2. Similarity (Upmana)

3. Inference (Anumana)

4. Verbal Testimony (sabda)
1) 1

(2) 2

3) 3

(4) 4

U 98 T 397 A7 @1 qar & oy §5 anfaRi= §q U JHaRi 3 A6 48T | TRdid YRAd O Jd &
TR FEfaiEd 8 9 99 & & 9= &1 wan e g 2

. HcTE
SUHMH

HIHA
Ueg

L

1)1
2) 2
3) 3
(4) 4
1[Option ID=13317]
2[Option ID=13318]

3[Option ID=13319]
4[Option ID=13320]

Sl. No.131
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Which of the following applications A-C are built on top of open-source digital platforms?

A. Google Earth
B. DIKSHA
C. MySQL

Choose the correct answer from the options given below.

. A and B only
. A and C only
.B and C only
A, Band C
1) 1

2) 2

(3) 3

(4) 4

A-cgﬁﬁa@ﬁaﬁﬁ&ﬁ VAN (3iiep =) T H B gaa-gid [Sfored wiewrH & 3 o FHita
Bl e ?

A.TITE 31 (Google Earth)
B. GI&fT (DIKSHA)

C. HIS THHUT (MySQL)
i feu U fdded] | 1 Uol 3R &1 9U- Difuil:

1. $aT A 3R B
2. Had AR C
3. HIAB AR C
4.A,B3RC

(1)1
(2) 2
3) 3
(4) 4

da e b o

1[Option ID=13321]
2[Option ID=13322]
3[Option ID=13323]
4[Option ID=13324]

Sl. No.132
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Which of the following statements (A-C) are correct with reference to Web 3.0?

A. Web 3.0 technology (theoretically) puts user data and web content into user's hands.
B. Centralization is a core tenet of Web 3.0
C. In Web 3.0 world. block-chain based networks, transactions and businesses will thrive in the coming

years.
Choose the correct answer from the options given below ;

.Aand B only
A and C only
.B and C only
A, Band C
(1) 1

) 2

(3) 3

(4) 4

39 3.0 @ Jeu # Fafafad i (A-0) HIPH I TR § 2
A. 98 3.0 WENfiet (Rrsiaa:) Ydied $121 Ud 96 [dvaasg & Waiedl &1 Suasd el § |
B. 5301 39 3.0 P10 FASTA T |
C. A 3.0 ST SAFTTHT 9! § &aiids = R SN ead & YoudeR 3R oaar Gail-Gai |
14 fau Tt fdeed § ¥ Il TR &1 994 Hifee:
1. Hdd A AR B
2. PaAA AR C
3. HaAB AR C
4.A,B3RC

b

1[Option ID=13325]
2[Option ID=13326]
3[Option ID=13327]
4[Option ID=13328]
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Given below are two statements :

Statement I : The inventor of WWW is Bill Gates.

Statement II : IPv6 protocol defines an IP address of 128 bits,

In the light of the above statements, choose the most appropriate answer from the options given below ;

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II is true.

(1) 1

(2) 2

3) 3

4) 4




BEEERIE ARl
YA : S S« 5o (WWW) D SHIITHRS [dd Ted ¢ |
FUF 11 : 3MMsUIA16 (IPv6) Hieidid 120 fie & Mzt toU &l aRYNT F=a1 g |
SIRIgd HU & e 1, 14 3 70 fgeedi § 3 96l SR @1 91 S
1. FYT1 AR 11 GHI A 5
2. BYA 1 R 11 &HI A E

3. DY 1 9 B, Qe DY 11 A B

4. BYF 1 AT ¢, e HYT 11 Td B
(1) 1
(2 2
(3) 3
4) 4
1[Option ID=13329]
2[Option ID=13330]

3[Option ID=13331]
4[Option ID=13332]

Sl. No.134
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Consider the following Excel spreadsheet :

A B C D E F
1 3 5 1 2
2 2 3 5 2
3 4 5 7 2

What is the value of the formula = SUMIF(B1:B3, "=" & 3, C1:C3)

1.3
2.5
1.9
4.8
1) 1
(2) 2
(3) 3
(@) 4
Frafaiad trd sisgiie i f[dar S :
A B C D E F
1 3 5 1 2
2 2 3 5 :
3 4 5 7 2

4 : =SUMIF(B1:B3, ">" & 3, Cl:CS)WIII'I:TETTIT%‘?

B
00 =1 Lh W

1) 1
(2) 2
(3) 3
4) 4
1[Option ID=13333]
2[Option ID=13334]

3[Option ID=13335]
4[Option ID=13336]
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Given below are two statements :

Statement I : SWAYAM is a platform developed by Ministry of Education and AICTE to bridge the digital
divide among students.

Statement IT : UGC 1s a National coordinator of SWAYAM for non-technical Post Graduation education to
ensure that best quality content is produced and delivered.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4. Statement I 1s false but Statement II 1s true.

(1) 1
) 2
3) 3
(4) 4

EIEEAR:ZIC ARl oACE

PUA [ : TWIH (SWAYAM) B! & A [Siored Samdl &1 |k &1 ure- & g Rign damwm iR
TSR HICTS (SAHTAIRIT) GRT (G Rd U ©ie®H § |

BUF 11 : GOl TR-AD1b 1 WP &7 P AT WaH (SWAYAM) BT 1P TH-G9S & forad gHiEa
1 e fob FalaH uraTgu fawas @1 (i 3R yarai &1 o |

IRIFd HUF F AaP 1, 51 2 T faweal 1§ 3 I8t SR &1 9 Fifo:
1. YT 1 AR 11 S FA B
2. PUT1 AR 1 ST ST B

. PYTIIT S, AT PYTI 3T © |

4. YT ITIE, AP PYT I TIE |
(1) 1
() 2
@) 3
(4) 4
1[Option ID=13337]
2[Option ID=13338]

3[Option ID=13339]
4[Option ID=13340]
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Arrange the following Earth's water compartments in increasing order of the amount of the water they hold.

A. Rivers and streams
B. Fresh lakes

C. Atmosphere

D. Ice and Snow

Choose the correct answer from the following options given below :

1.A,C.B.D
2

pele!
Jesle=itte
gprw
nog

LS

(1)1
) 2
3) 3
(4) 4




gl & ofe SUEUS| 1 379 RT YIRA & BT & §¢d H H ogaid HIfe |

B. TSl 510 31 St

C.
D.ggﬁﬂ%ﬂ
i fSu e [aedl H U Uol 3R &1 99 Sivd:

1.A.C.B.D
2.C,A,B,D
3.C,B.A.D
4. A B.D.C

1) 1

(2) 2

3) 3

4) 4

1[Option ID=13341]

2[Option ID=13342]

3[Option ID=13343]
4[Option ID=13344]

Sl. No.137
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Given below are two statements

Statement : I Municipal solid waste includes Garbage and Rubbish.

Statement II : Garbage consists of both combustible and non combustible materials.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement IT are true.

. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II 1s true.

1) 1
(2) 2
(3) 3
4) 4

e el sy Ry
HUA 1 : TRUMTDT & B SARE T Pol-PRae (M) HR B1a-Hars I @ © |
DY : PSI-PRBHE § Gaa=iid AR Seae-=id g1 STt Sieferd gidi ¢ |
IRIFd FYA & e 4, -id U U f[dbedi 4 I Il IR 1 90 B
L. FAIARIIA T |
2. FYA 1 AR GHI 3T |
3. PYTIEA G, AP DU I E |

b =

4. BYTI AT E, AP YT TA R |
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=13345]
2[Option ID=13346]

3[Option ID=13347]
4[Option ID=13348]
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Given below are two statements :

Statement : I In many cases, both organisms and human infrastructure will not be able to move or adapt
quickly enough to changing climate.

Statement II : Infectious diseases are likely to increase as a result of global warming.
In the light of the above statements. choose the most appropriate answer from the options given below :

. Both Statement I and Statement IT are true.
. Both Statement I and Statement IT are false.
. Statement I is true but Statement II is false.
. Statement I is false but Statement I is true,
(1) 1
(2) 2
(3) 3
(4) 4

19 <l Py Ry M &
BYA T : e AE 1 Siid SR HHa ARG aHl 9gad] aaarg & Hid s T9e a1 sgad o
e el gi |
PUAL1 : TAIEd areT (A4S ard-) & IRUIRGR=Y HehTH® I 1 gig &1 GHIEAT S |
SIRIF YA & e 1, == 3y 7 fadedt & 3 98t SR &1 997 SIoTe:
1. BYAI AR I aH 9A G |
2. U1 IR 11 &I ST |

3. PUTI T B, AT HUT I T B |

b =

e L

4. PYTI AT, AP PUT I TIE |
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=13349]
2[Option ID=13350]

3[Option ID=13351]
4[Option ID=13352]
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Major contributor to carbon monoxide emissions in metropolitan areas of India is/are:

1. Industrial Sector
2. Domestic Sources
3. Transport Sector
Agriculture Sector

b

1) 1
(2) 2
(3) 3
4) 4

URA & HeRI &3 § HlaH AHIsaaEs 3o 4 Ud M [Badl § 2

1[Option ID=13353]
2[Option ID=13354]
3[Option ID=13355]
4[Option ID=13356]
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Given below are two statements : One is labelled as Assertion A and the other 1s labelled as Reason R.

Assertion A : Although internal-combustion engines used in today's vehicles can be adapted to burn hydrogen,
hydrogen powered combustion engines probably are not the future of hydrogen fuelled vehicles.

Reason R : It iz more efficient to convert hydrogen energy directly to electricity using fuel cells.
In the light of the above statements, choose the correct answer from the options given below :

1. Both A and R are true and R is the correct explanation of A.

2. Both A and R are true but R is not the correct explanation of A.
3. A is true but R is false.

4. Ais false but R is true.

(4) 4

9 &1 B ST TU §: TP SHTUHUT (Assertion A) & &0 H [A1Ed § O GER] 39D BRI (Reason R) P
EREE

HIUBYT A - TR 1ol & dTe-1 H Wga H<IRD-38 Soi- Bl gIggIor ge- o fod s fard fabar
S & dl &, B SIeH Nad-STHTRd 38 o GHad: BI5gIoH sU- ae- &l Hidw Tel & |

BRUIR : TS Yo BT IGUNT D G BTZS o Sull I Yl [dggd B SUlaRul A1 3Hd 38§ |
IRIgd FYF & aie H, 714 2w 70 faweal & 3 I8l o= o198 i |

 ARREA IO E 3R R, AT TSl AR © |

 AMRREF IO E, dfpT R, AP TE IRAT TR © |
3.ATIE AMBIR TR |
4 ANTIEAGIRTAR |

) 1

(2 2

3) 3

(@) 4

ra

1[Option ID=13357]
2[Option ID=13358]
3[Option ID=13359]
4[Option ID=13360]
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While planning for higher education development in India in the twenty first century. the guiding principles
should be :

. Access

. Empathy

. Equity

. Accountability
. Quality

monNnwe

Choose the correct answer from the options given below ;

A, B and E only
.B.C.Dand E only
.A.C,DandE only
.B. C, and D only
(1) 1

(2) 2

3) 3

(4) 4

B B R




Sl 94l 7 HRA H 3= Rl & (919 & [Faier & wag arfeRi Riidl # Feafiad g9 9ige:

A, efim
B. Ay
C. gHEf®
D. ITRaldd
E. T[UrGl
4 feu g fdwedl § ¥ 9ed Sugad SR &1 99 DI

1[Option ID=13361]
2[Option ID=13362]
3[Option ID=13363]
4[Option ID=13364]
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Which of the following ancient systems is focussed on laws of matter and force and of combination and
disintegration?

. Vaisesika

. Nirukta

. Chhanda

. Grihya Sutras
1) 1

) 2

3) 3

(4) 4

fgfafad ¥ 9 &= Oy vsfa v iR 9 qur Juie wd fagea & ol mafsd g

L

1[Option ID=13365]
2[Option ID=13366]
3[Option ID=13367]
4[Option ID=13368]
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According to NEP 2020, what percentage of learners of schools and higher education system shall have
exposure to vocational education by 2025.

1. 40% of learners
2. 50% of learners
3. 35% learners
30% learners

Ea

1) 1
(2) 2
(3) 3
(4) 4




TSl 2020 F IR, Tpdl 3R 3 e Ui & st diaf &1 fda= ufasrd av 2025 9@
ATTHID FRIeT § HIR ShT 2

1. JfErTHSG At BT 40%
2. AT Gl & 50%
3. fferTEarat &7 35%
4. ftrTHE At &1 30%
1 1

) 2

3) 3

(4) 4

1[Option ID=13369]

2[Option ID=13370]

3[Option ID=13371]
4[Option ID=13372]
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Which of the following are the characteristics of non-conventional learning ?

A. No fixed curriculum

B. Teacher-centred learning
C. Cost-effective

D. Require regular attendance

Choose the correct answer from the options given below:

. A and D only
A and C only
.B and C only
.B and D only
1) 1
) 2
3) 3
(4) 4

Fafarad o 9 IR-ORuR® S 1 e &= 41 8 2
A 7 ST ureTgal 76t

B. TRI&H-Bid A

C. QATA-IHTET

D. Fafia Suffa &1 saza®

== few 7T faehedl & § Hel a4 @l o= diloig:

1. $ad A 3R D
2. Had A IR C
3. $aAB AR C
4. $AAB IR D

) 1

) 2

3) 3

@) 4

b

1[Option ID=13373]
2[Option ID=13374]
3[Option ID=13375]
4[Option ID=13376]
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The Sanskrit-Sahitya parishat whose aim and objectives are to disseminate Sanskrit learning and research in
different branches of indological studies and to store and maintain the ancient Indian cultural and glories of

India was established in the year :

. 1906
. 1916
. 1964
. 1961

1) 1

L




() 2
3) 3
(4) 4

Fepd-Tiea-uRye e S5xg Tiwd A &7 TR iR YR f3en gt s ot faftm graai
T SFTHYT qUT U YR IR a® SR YR & TRa BT 999 qUT 3FRET AT, SHa! RIS 69 79

gedi?

1906
1916
1964
1961

il

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13377]
2[Option ID=13378]

3[Option ID=13379]
4[Option ID=13380]
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seck to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.

fgfatad meiw o ufdd 3R Uy &1 3w 2o

S{I-Terre FRI&TT BT HRTIdl PR & [eTU Sex T R § SHYal 38 ] HA1 11U 2 S ARM A Sex
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TER R RIg (SIeiRad) =1 8 3aftie Srial sHuged dreH S1E1 & gieH i aliid $R gedl
§ | gedl SR URMAHS &1 Ue3ISaR SHE &I Jad B3 & Hadod 3R 38 Sd U U 1 up
T & oY TR1ad B3 P 91 PRl © | S [ada-IeTe (216 U P @i ol § Sl [ & WieR
@1 gerR Ries war | R ok Rigndf & w0 gfaymh 91 @1 s/ sl ¢ | auft s9=ar & 4
T W0 DI HUCT HERId B ofd Jeuic @1 SHariand -1 $o9 RR Ia1@ | graife sad ot

T AT 8 [ TP eI T8 T B & b 54 T e AT AfeT W g9 Sy T AAE P
&1 1 DA Al | TS 3FaTR cdex d-oid T4 1 g ot 3iR U= [ad=iiadl & $o [daRr] &1

gﬁmwé‘gﬁaﬁﬁﬂéﬁfi‘[%ﬁ%mﬁqa?ﬂﬁumw%%ﬁﬁ:{ﬁﬂ@aﬂ&mﬁwaﬁﬁ%mﬁ@

YT |

What has been done to describe the role of online tutors?

Add value to their guidance

Provide them with a warning system

Clarify their duties in fields other than education
By adoption of certain metaphors

ol o Bl

(1)1
) 2
(3) 3
(4) 4

AT eex! 31 i1 & qui9 & forg o1 fpan man g 2

1. 31 AFERH & gegaei f6ar o |

2. 38 dd1a-1 HOTTett UEH S

3. e Y soR &3 © 399 ool & Y HAT
4. BII9Y =9F] B YRR




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13381]
2[Option ID=13382]

3[Option ID=13383]
4[Option ID=13384]
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have zought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their foree is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students. and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seck to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.

fafafad meiw o ufed 3R uy o1 3w S|

HFaTE el T Ferd S & OT0 S R I © HYal 36 1 PA] F1MeT > P& Arll A SeR
@1 HfHTe1 &1 qUiF B & T URMHEmS, TR (HER) Sal GHEdl ol S0 [ 391 B SHa]
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YT |

What will inhibit student's contribution to tutorial discussions?

1. Too much contribution of the tutor
2. Disruption during tutorials
3. Internal divisions
4. Outside intervention
(1) 1
) 2
3) 3
(4) 4

Riempta == ® Sl & TFTar S o §1ed BT 2

1. QYR DI GID TR
2. Rt o1 & SRE swayE
3. 3k B
4. 961 g4
(1) 1
(2) 2
3) 3
(@) a
1[Option ID=13385]
2[Option ID=13386]

3[Option ID=13387]
4[Option ID=13388]
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have zought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their foree is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students. and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seck to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.
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The rhetoric of moderators has the intention to :

Displace teachers from teaching
Liberate students for their own learning
Strengthen the authority of teachers
Avoid eritical pedagogy

ol i

1) 1
(2) 2
3) 3
(4) 4

gRATHST & WEeaR BT U g T T g2

1. gt 1 e & fawiiod o
2. B DI I 39 UTH & Ay god Bl
3. R1grp! & WIIBR DI Jeg D
4. fad=TeTe fRISTIRE T R IE

(1)1
) 2
3) 3
(4) 4

1[Option ID=13389]
2[Option ID=13390]
3[Option ID=13391]
4[Option ID=13392]
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have zought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their foree is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students. and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seck to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.
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The discourse of participatory learning may result in:

Abandonment of the online tutorial system
Vigorous student protestation

Emergence of dos and don'ts guidelines
Supervisory role of students

ol ol

1) 1
(2) 2
(3) 3
(4) 4
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(1) 1

(2) 2

(3) 3

(4) 4

ol o

1[Option ID=13393]
2[Option ID=13394]
3[Option ID=13395]
4[Option ID=13396]
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have zought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their foree is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seck to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.
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The passage 1s an analysis of:

The traditional educational system
The new assessment methodology
Indian vocational education
Paradoxes of online tutoring.

i

1) 1
(2) 2
(3) 3
(4) 4
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13397]
2[Option ID=13398]

3[Option ID=13399]
4[Option ID=13400]




